
BEMRH 
MODEL BE_SRH 

,----

B EX H 



• . 

BEMRH·BESRH·BEXH 
~:im§Jh~Ua ~ ~ /~)M/'\-'Y •J .A I' 

~fiNo. 

l!i!ili:~ ( ~ ~ ~ ) • . . . . . . . . . . . .. . . . . . . . .. .. • . .. .. . • • . . . . . . . . .. . •. . . . . . . . . . . . . . . .• . . . • . . . . . . . . . . . . . . . .. 1 

<D~ ':1 ,.. ~·~ • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • 4 

®~~- .................................................................................... 6 

®tt .. t. .................................................................................... 8 

®"--:~ t:~Jlf'i"DO~ · · · · • · · · · ·· · · · · · · · · · · · • • • · · · · · · • • · · · · · · · • · ·· · · · · · • • · · · • · • · ·• • · · · · · · · · · · · · · · · • • · · · 1 o 
@~ T /::f;fltf4 I ( i *it) ............................................................... 1 2 

@:; -v :,~::t:fltJt n c 3 *it) ······························································· 1 4 
®*liDO~ I ( 5 *it) ..................................................................... 1 6 

®*il!OO~ n c 1 *it) ····································································· 1 8 

®*iiOO~ m c 3 *ai-) ····································································· 2 o 
(1)~~- I (M R H) · · · · · · · · • · · · · · · · · · · · · · · • · · · · · · · · · · • • · · • · · · • · • • · · · · · · · · · · · · · · · · · • · · 2 2 

Cl)~I&Jh:tltJJ I (SXRHH) •..................•..................•...................•...•...... 2 4 

<V~m•• n ···················································································· 26 

®7-:i'Jit • -:; v-A ··········································································· 2 8 

~-~- .................................................................................... 3 0 

I e ®T*t11ntl~~· .·············································································· 3 2 

·. ~J5!KIIJ;fltJl ( V • H :IJ[P]) I · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · 3 4 

@f!#:"W~t• (H:IJ~) II ..•.............•................................................. 3 6 

@tt#:"l&lb.tf4 (HJ:f~) m .................................................................. 3 8 

~-tJJ (VJ:f~) N ········ ··········••·················· ······•· ····· ············· ·· 4 0 

®$1Jti!J00{~ (M R H) · · · · • · · · • • · · · • • · · · · ·· · · · · · · · · · · · · · · · · · • • · · • · · · • · • • · · · · · · · · · · · · · · · · · · · · · · · · • 4 2 

@tiJ~OO~ ( S R H) · • · · · · · · · · · · • · · · · • • · · · • · · • • • · • • • · · • • · · · · · · • · · · · · • • • · · • · · • • • · · · · · · · · · • · · • • · · 4 4 

®fliljfi!JPQ~ (X H) ·••·······•·········•··•········•············•······•···•··········•·······•·· 4 6 

@;ttt1J ~ ~- I · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · 4 8 

®*t11 ~ ~- II · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • • · · · 5 0 

®*t11 ~!51&ib$ m (M R H) ·······························•············•············•····· 5 2 

~tD ~~WiB N (SXRHH) ...............•............................................ 5 4 

@i':t.IJI~ . . . . .. . . . . . . . . . . . . . • . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .. • . . . . . . . . . . . . .. . . . . . . . . . . . . . . . . . . . . . . . 5 6 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~iii (g) (8 EMRH) 

• 

• 

-1-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



G 

lcii:~(BESRH) 

-2-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



1-
lefi:~(BEXH) 

-3-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



9 

-4-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-ft ~Hiilt.ft 81. 13 11 ~ • Cl :g milt {113 ~ a a 

1 91422 A 9 0 1 4 0 2 2 D= 1 2 -~ut 1 

2 2576P01 H P 2 5 0 7 6 1 *~ (~~Jt.-¥1"'-~ '!I 1-') 1 

3 2134P01 H P 2 1 0 3 4 1 ~ •y t-' ( ~~Jt.-¥-\"'-) 1 

4 91181 A9011111' .;:_- J.:" }!; ~ 7 IJ / ~· TLA-2012Z 1 

5 32A9POO H P 3 2 1 0 9 0 ~fdli!lUa ~"'" 7 ~ n 7- 1 

6 2251F K F 2 2 0 5 1 0 ~1.1:.;( 1 

7 32A8P02 H P 3 2 1 0 8 2 rfdlil*ili¥i"'-<*¥i"'-=-) 1 

8 2271P02 H P 2 2 0 7 1 2 rflll ¥"'"'- <,1,¥"'"'-) 1 

9 2237F K F 2 2 0 3 7 0 ..Y.I::'/-7-A CMK- 3) 1 

1 0 2270P01 H P 2 2 0 7 0 1 r fill ;( 7 Jt.- c ~ ~ Jt.- ¥"'"' - ) 1 

1 1 2241F K F 2 2 0 4 1 0 ;f{t:/ 1 

1 2 22578 HH220570 r fdl ;( 7 Jt.- /1" .... Jt.- 7 .1:. )~ ~ 1 

1 3 2272POO HP 2 2 0 7 2 0 "ffdl ( ~~J~¥-\"'-) 1 

• 1 4 2268K01 HK 2 2 0 6 8 1 rtmn?- 1 

1 5 2231F KF 2 2 0 3 1 0 ~ HSL-A-M1Q 1 

2275FOO KF 2 2 0 7 50 ~ KHS 1 2- R Y NW (7-7 c /) 1 (1M SIH± f,l) 

1 6 :M1f:JJ\Mll:.;t*:; M4X5 

1 7 A IJ WIJIJ M~'1'*:; (SMll/65 Ll.J40X 5) 

1 8 A IJ 111 IJ ftll:.;( * :/ (Sltl1/65 l.l.J40X 4) 

1 9 7\11':1/\Mll:.t-*:/ M 5 X 10 

2 0 7\11':1/\Mll:.;t*:; M5X6 

2 1 7\11':1/\Mll:.;t*:; M5X8 

2 2 A IJ 311 1) M~lj\*:; M4X8 

2 3 ~~~ 6 

2 4 "<*.m~ 6 

2 5 7\tfJ J\ M .Y. J~ ~ M 6 X25 

2 6 2590FOO K F 2 5 0 9 0 0 it fill:. ;l * :/ ( SM11/64 Ll.J40 X 7 ) 3 

• 

-5- (81)5.250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



12 

-6-

30 

6 

1 

31 

32 

t) 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



! 

fl-ij- lmiliilt-ij- .Ha 1§1 • .Jt • Cl 
~ IJ~l {ill ~ a a 

1 23C6POO H P 2 3 1 2 6 0 fit J 9 Jv 1 

2 23D2POO HP 2 3 1 3 2 0 ..tfmtJ7- 1 

3 23C5P01 HP 2 3 1 2 51 ..tflb¥~- CIVUJf) 1i 1 

4 23C8P02 H P 2 3 1 2 8 2 ..tfi!J 1 

5 23C7P02 H P 2 3 1 2 7 2 WI; 9 Jv < A 7 A i' ,.z 7 IJ ~ ?' > 1 

6 2364F . KF 2 3 0 6 4 0 0-:~1l!J!faf4117~-:/ 1 

7 2361G KG 2 3 0 6 1 0 USo·':I1Lo<- - 1 

8 2365F KF 2 3 0 6 50 o '':11ln<-7'7?- ':1 ~ 1 

9 2363F K F 2 3 0 6 3 0 0•':11Lo<-~.y7~ 1 

1 0 2366F01 KF 2 3 0 6 6 1 0 ':1 1 l,.u <- A -j'IJ ~ ?' 1 

1 1 2367F KF 2 3 0 6 7 0 o '':1 9 Ln < - A -:1 1) ~ ?' 1:.• ~ 1 

1 2 2351F02 K F 2 3 0 5 1 2 ~fili.~.Y7i' 1 

1 3 2352F01 K F 2 3 0 5 2 1 ~fqi; 9 Jv 1 

tL ~ 1 4 2322G KG230220 ~flliASSY us ( 7 **> 1 

• 2322C KC230220 ~flliASSY U F ( 5 *ft) 1 

2322F KF 2 3 0 2 2 0 ~flliASSY u (3*ft) 1 

1 5 2350F · KF2305·00 ~fji:JoASSY 1 

I 6 2383T01 MT230831 ~n < 1*tt> 1 

2349T01 MT230491 . ~flli ( 5 **> 1 

2385T01 MT230851 ~flli (3*tf) 1 

1 7 2358F KF 2 3 0 58 0 ~fili;ff.-(:, (7*it) 7 

2358F. KF 2 3 0 58 0 ~fqi.;ff 1' ~ ('5 **> 5 

2358F KF 2 3 0 58 0 ~flli;ff 1':, ( 3 **> 3 

1 8 91207 A 9 0 1 2 0 0 7 iili:J.m*~ 4 

1 9 23D8POO HP 2 3 1 3 8 0 A7At-'7·':1~oy- (~filitJ.L.) 1 

2 0 2342F KF 2 3 0 4 2 0 ~fili:fJ.L.li:J*~ 1 

2 1 2343NOO KN230430 9 0° 17~1 1 

·~2 2 23EOPOO HP 2 3 1 4 0 0 ..tfi!J~~*~(A7At-"7~~?') 1 

...., 2 3 2341NOO KN 2 3 0 4 1 0 .ll!f!li:fJ.L.G l 

2 4 A IJ ff!J IJ ft 1.1: J * ~ ( s M 15/ 6 t.lJ 28X 10) 

2 5 7\PJ/\ftli:J*~ M6X6 

2 6 ""*m~ 6 

2 7 7\PJ -J- ·:~ 1- 7/32 

2 8 7\flJ -J- '':1 t- M8 

2 9 sp:mifi 8 

3 0 7\flJ/\ftJI:J.:t-:/ M4X6 

3 I sp:m~ 4 

3 2 7\flJ -J- ·:~ 1- M4 

3 3 sp:m~ 5 

3 4 7\ flJ :r. Jv t- M 5 X 1 0 

3 5 7\flJ -J- '':I 1- M 1 0 

3 6 ""*mit 1 0 

3 7 1\ flJ 1\ {-J' Jl: J * :; M5X6 

-7- (81)5.250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



1 

-8-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-fj- ~iii11-fj- .fl. El • .fj- $ Cl 
~ filM {11ft $t a A 

1 2301F KF 2 3 0 0 1 0 !lt Mt -1! ':1 t- NX1 

2 2318F KF 2 3 0 1 8 0 ttttA -:1 IJ ;,., ?' NX1 

3 2302G KG230020 tfp..:r. (t-;,.,t-;,.,) NX1 

4 2391F KF 2 3 0 9 1 0 0 1) ;,., ~· (!J\) NX1 

5 2393F KF 2 3 0 9 3 0 :; X. 7 -=~·;:_,? ':1 ~ -\7 - NX1 

6 2323F KF 2 3 0 2 3 0 ftJ.I:;( NX1 

7 2324F KF 2 3 0 2 4 0 !lt 11:: ;( * :./ ( S M 9 / 6 ~4 W 4 0 ) NX1 

8 2325F K F 2 3 0 2 5 0 ft DB K5 1 1 NX1 

9 2321F KF 2 3 0 2 1 0 tfiJ ..:r. A 7' 1) ;:.t ?' NX1 

1 0 2392F KF 2 3 0 9 2 0 0 I) ;:,t ?' (*) NX3 

1 1 23HONOO KN231700 leJE~7 x. Jl-- t- ( 7 **) 1 

1 2 2315F KF 2 3 0 1 50 ttr.-=4=--\7':1-:1 NX1 

1 3 2307900 H P 2 3 1 3 7 0 1'J3i 

1 4 2331F K F 2 3 0 3 1 0 'Eibfa 1 

1 5 2332F KF 2 3 0 3 2 0 .m ll.ltib J:. ;( -7 Jv 1 

1 6 2334G KG230340 tttt-794=- 1 

1 7 23DOPOO H P 2 3 1 3 0 0 ~7;:.t~O·y ~ 1 

1 8 2345F K F 2 3 0 4 5 0 9 0° ~7;:.t7*:J 1 

1 9 23C9POO H P 2 3 1 2 9 0 ~4=- t• ;:_, 1 

2 0 2348F KF 2 3 0 4 8 0 ~lbfa~-=4=- 1 

2 1 2301POO H P 2 3 1 3 1 0 m~m 1 

2 2 2312F KF 2 3 0 1 2 0 ~ - 1) ;:_, ?' ;( -7 Jl.- 1 

2 3 91011 A9010011 "'7 1) ;:_, ?' (SSA-2015F) 2 

2 4 91123 A 9 0 1 1 0 2 3 A7AI'-"'-7Y;:.t?'~-(GS-1528) 2 

2 5 91121 A9011021 A7At-"'-7Y;:.t?'(NTB-1528) 2 

2 6 91122 A 9 0 1 1 0 2 2 A7A t-?·:~~-\7- (AS-1 52 8) 1 

2 1 2333F KF 2 3 0 3 3 0 I!Kibfdlr ;( 7 Jv 1 
II 

• 2 8 23G5N01 KN 2 3 1 6 51 -t!"'-71eJEfi < 3 **> 1 

23G6N01 KN 2 3 1 6 6 1 -t!"'-71IDEil < 5 *ft) 1 

23G7N01 KN 2 3 1 6 7 1 -t! ""- 7IIDEfi < 7 **) 1 

2 9 ~1'J/(ft.IJ::;(*:) M6X6 

3 0 ~~ /(ff ;f. }I, t- M4X8 1 

3 1 AY~Yt:t•~*:J(SM9/64l1J40X8) 

3 2 ~1'JI\:JJ:;(*:) M6X6 
! 

3 3 A IJ I!J•J ft lJ!!J\ * :; ( s M 9 / 6 4 L1.J 4 0 X 8 ) 

3 4 91422 A 9 0 1 4 0 2 2 0=12 liti 2 

23H3N01 KN 2 3 1 7 3 1 -tf"'-71eJEfiASSY (7) 1 

3 5 23H2N01 KN231721 -t!"71IDEfiASSY (5) 1 

23HIN01 KN231711 -t!"'-7IIDEtiASSY (3) 1 

3 6 2304POO H P 2 3 1 3 4 0 @fill:./ a -1 ;,., t- t" ;:.t 1 

-9- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



r 
i 

] 

-10-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



1=-lJ ~iii11-J5-
1:11 

~ 11-f} {$ 1:11 
~ {I If[ {ill ~ a a a a 

1 2560P01 HP250601 t- •y -j''IJ.I{- 1 

2 3252F KF 3 2 0 52 0 i!l!~¥-r-?7"./7' 1 
-----

3 32AOP01 H P 3 2 1 0 0 1 l!IUa¥-r- CIBliJF) ti. 1 

4 3228H HH 3 2 0 2 8 0 ll~¥.Y-UitrliRVJ:IJ7- 1 

5 3284POO HP 3 2 1 1 4 0 J:flllj!j!faflb~.:r...::.';lt- ( S B F L NO. 2) 1 

6 3341C KC 3 3 0 4 1 0 0 ';I 7 iltti 0 •y 1-:' 1 

7 3338F01 K F 3 3 0 3 8 1 ;'At§flf'li 7' 1) ''/ 7' ... 1 

8 3331C KC330310300 IE1~~i!Us o ·y r- L=250 1 * 9 91205 A 9 0 1 2 0 0 5 .:L.::. ;f. - Jv y a 4 "./ t- NMBRD4-020N( 1 DJf ED 1 

91203 'A9012003 .:L .::. <f. - Jv y a 1 "./ t- NMBRD4-020L(Rl~J.RftB) 1 

1 0 ~fll 1\ f.t ;y. Jv t- M 5 X 1 0 

1 1 nn"<* 8 

1 2 ~ 141\ f.t .Y. Jv t- M8X25 

1 3 ~ 1IJ 1\ M :r. Jv t- M6X22 

1 4 7\flj/\f;f.ti:J *:; M 6 X 1 0 

1 5 ,{*HI!~ 6 

1 6 t\14 1\: M .Y. Jv r M6X30 

1 7 7\IIJ/\f.J'.tl:;f*y M6X6 

1 8 7\PJ/\f.t.ti:J-*:J M5X6 

1 9 t\14+ •y t- M4 

2 0 SJ!Ell~ 4 

2 1 t\11J+ ''/ t- M5 

. 

~ 

. 
-11- (HI)5. 250 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ :; 1" ::,~ -:1 It tM I 
( 5 *tl- . 7 *tl-) 

2 

, IJ ~ 

3 I ./"---. I 
7 , I~ 

(_~~~ 
~- -~~~) 

21 ~· 

9 

10 

11 
! .' 

' 

-12-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



! 

11-ij- 181ifi11~ B El 11 -ij-

1 24C1POO H P 2 4 1 2 1 0 

2 2483POO H P 2 4 1 1 3 0 

2484POO HP 2 4 1 1 4 0 

3 2403F KF 2 4 0 0 3 0 

4 91009 A 9 0 1 0 0 0 9 

5 2447F KF 2 4 0 4 7 0 

6 2446F KF 2 4 0 4 6 0 

7 2402POO HP 2 4 0 0 2 0 

8 23D3POO HP 2 3 1 3 3 0 

9 2443F l<F 2 4 0 4 3 0 

1 0 2444F KF 2 4 0 4 4 0 

1 1 2445F KF 2 4 0 4 50 

1 2 2442F KF 2 4 0 4 2 0 

• 1 3 246F KF 2 4 0 6 1 0 

1 4 2449F KF 2 4 0 4 9 0 

1 5 2448F KF 2 4 0 4 8 0 

1 6 

1 7 

1 8 

1 9 

2 0 

2 1 

2 2 

2 3 

2 4 

2 5 

• 

$ Cl 
~ a a 

.:;- / ~ ;I / 7 - 7 Jv 'h r(.-

7-/~a/~-A (5t4§ft) 

7-/ ~;;~/~-A ( 7 fftf') 

.:t:-.,. /it 1) / ?" t" /it •:J t-

~ 7 IJ / ?" ( S S A - 2 0 1 5 H ) 

1) / 7•-t- •:J t- {lj\) 

1) / ?"-:}- "I t- ( *) ~ 

y.,. / t"/?"it •:J t- (BESRH) 

'/1/J.{ 1"~-A 

vr{-Slt7 

c-9-

c-9-7-A 

C- 9 1)- l,,u<-

c - 9 IJ - 'J v J .-f I" ( 3 E R 2 5 -. 3 5 ) 

At-·:~ ~~-.:L;fit /'111<-

At-·:~ ~~-.:L.:t:-it / 

c.- 9 IJ- v'<- A 1) III IJ M'l'* Y M4X25 

SJ!m!~ 4 

"'111 + •:J t- M3 

... <;t,m!it 5 

SJ!m!~ 5 

AY~YM.~.:f.y(SM9/64ili40X8) 

A11:!+·:~ t- M 1 2 

SJ!m!~ 1 2 

A11:1 1\:M ;f. Jv t- M 5 X 1 5 

SJ!li!~ 3 

-13-

MD 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 

2 

2 

{I ff 

(HI)5. 250 

I 

i 
I 
t 
i 

~ From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



:r 

®.1:: 
:· 

6 

()J 

-14-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ .... 
/ 7' ml tJi II ( 3 *it) :,/ T 

11-ij- iliii11-it Cl El 11-ij- • Cl :8 mill {11ft ~ DA DA 

1 24BOPOO HP 2 4 1 1 0 0 y~J~'j v/.{ r1'J.r~- 1 

2 2442F KF 2 4 0 4 2 0 C - 9 IJ - v r:- 1 
·-

3 2403F KF24003.0 .:f ~ -1! 1) / ~ t• / -1! ") " 1 

4 91009 A 9 0 1 0 0 0 9 ~ 7 •J / ~ ( S S A - 2 0 1 5 H ) 1 

5 2447F KF 2 4 0 4 7 0 IJ / ~-}- •:J r ( lj\) 1 

6 2402POO· HP 2 4 0 0 2 0 :;; ~ / t• / 7. -1! ':1 " ( B E s R H ) 1 

7 2446F KF 2 4 0 4 6 0 •J / ~ -r .., " < * > - 1 

8 2461F K F 2 4 0 6 1 0 c- 9 IJ- '} v /-{ ,.... ( 3 E R 2 5·- 3 5) 1 

9 .2442F KF 2 4 0 4 2 0 1\ 1lJ 1\ t-t if. )(,. r M5X20 

1 0 2461F K'F 2 4 0 6 1 0 ~~~~ft·~*:J(SM9/64ili40X8) 

1 1 2449F KF 2 4 0 4 9 0 ~ " ':1 ~~-.I. 4=- -1! / tJ ,.<- 2 

1 2 2448F K F 2 4 0 4 8 0 ~ r ·:~,~-~4=--t! / 2 

~ 
1 3 2443F KF 2 4 0 4 3 0 1;1<-Slt':t 1 

1 4 2444F KF 2 4 0 4 4 0 c-9- 1 

1 5 2445F KF 2 4 0 4 50 c-9-?--~ 1 . 
1 6 2303POO H P 2 3 1 3 3 0 'Jv/..f r~-~ 1 

1 7 ll!fl~ 4 

1 8 1\ 1IJ 1\ ft ;f. )(,. " M 5 X 1 5 

1 9 r:*fl~ 5 

2 0 ·fl~ 5 

2 1 lJ!fl~ 3 

2 2 1\ 1IJ -}- ':1 " M3 

2 3 ~ IJ itJ 1) M lfll\ * y M4X25 

' 

. 

' 

. 

. 
. 

-15- (81)5.250 

L From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-16-

j 
\ 
i 

l c 
I 
l 
i 

. ~f 
! 
; 

: : 

)·1 . . . 

": 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



I ( 5 *fff-) 
IJ-ij 1m iiHI-ij- a 13 11-l} • .HI ~ !Ill • ~ a a 

1 24A2G KG241020 1 ·y ;l 7- "./ ~ a "./ m * * I*J u s 5 

2 24B1POO HP 2 4 1 1 1 0 7-~~a'./i:t (5) 1 

3 2486POO HP241160 J:*~tiH!~ 5 

4 24D7P01 H P 2 4 1 3 7 1 r'./Ya'./7-'A::t'v-r ( 5) 1 

5 2409POO H P 2 4 1 3 9 0 7 "./ ~ a "./ 7- 'AT- 7 Jv 1 

6 55C0150 EBY00150 3 7 2 0 ~ ·:~ t:.Y.- r: 1 

7 2489POO HP241190 11 2 * m I*J .,.. ~,.~ - t- c !r) 1 

8 24E5POO H P 2 4 1 4 5 0 * ii 7 x '"' t- ~ M.,.. v - t- ( 5 *> 1 

9 2487POO HP241170 • 1 k~mi*I c 5) 1 

1 0 24E7POO H P 2 4 1 4 7 0 *ii 7 x '"' t- c 5 * > 1 

1 1 2485POO HP 2 4 1 1 50 ±a<* yft) 5 

1 2 24E1POO H P 2 4 1 4 1 0 ¥-1 ~ Ji.-5:\*llllT- 5 

1 3 24EOPOO H P 2 4 1 4 0 0 7- "./ ~ a "./ 'Ei' 7 "'Jv 1 

• 1 4 2562POO H P 2 5 0 6 2 0 ifijjJ.I{- ( 5) 1 

1 5 2493F01 K F 2 4 0 9 3 1 /fuli6i-=f rp 1 1 (7 '"' ~ 7-) 5 

1 6 2558P01 HP2505a·r iii 1J _,{- tfuli # 1 I'' 1 

1 7 2505POO H P 2 5 0 0 5 0 *mm~7"c'./7"v-t-ASSYCUF) 1 

1 8 5140C KN51040012300 7 7 ") t-7--:tJt.- S R- 1 2 p 3 0 0 1 * 
1 9 +*1\:M-J-"'1'* Y M3X4 

2 0 +*1\:ft 9 ·:~ t" "./ 7' * y M 3. 5 X 8 

2 1 'A 1J!IH>ft.t.l:;i-*y CSM11/64Ll.J40X5.5) 

2 2 +*1\:M t- 7 'A'J'* y M4X6 

2 3 +*1\:M-J-"'1'-* Y M 4 X 1 0 

2 4 1\ 1fJ 1\: t-t lf. Jv t- M 5 X 1 0 

2 5 24GlFOO KF 2 4 1 6 1 0 mi1'J-'{- ASS Y 5*tl- 1 

• 

-17- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



. ! 
I 

-18-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



3-ft l!liii3-ij- ~EIIf-ij- $ &:I 45 illlt· ~- ~ Atl 

1 24A2G KG 2 4 1 0 2 0 1"/;/.7-/Ya/Jft!A*J*JUS 7 

2 2482POO HP 2 4 1 1 2 0 7-/Ya:..-a (7) 1 

3 2486POO HP 2 4 1 1 6 0 ..t/A~tfH~r.!i. 7 

4 2408P01 HP 2 4 1 3 8 1 7-/Ya/1'-A~v-t- ( 7) 1 

5 2409POO H P 2 4 1 3 7 1 7- / Y a / 7 - A 'r - "'1 Jv 1 

6 55C0150 EBY00150 3 7 2 0 "., ~;tt- ~ 1 
-7 24COPOO HP 2 4 1 2 0 0 II 2 **J*J~ v- t- < 1 > 1 

8 24E6POO H P 2 4 1 4 6 0 *il7 .r. JL- t-nt:t~v- t- ( 7 Ali:) 1 

9 2488POO HP 2 4 1 1 8 0 • 1 **J*J ( 7) 1 

1 0 24E8POO H P 2 4 1 4 8 0 *il7 .r. Jv t- < 1 Ali=) 1 

1 1 2485POO HP 2 4 1 1 50 ±a <* ~t:t> 7 

1 2 24E1POO 1JP241410 ~-'( -r Jltl:\/f.:Yl!T- 7 

1 3 24EOPOO H P 2 4 1 4 0 0 7- / Y a ~a 7 "'Jlt 1 

• 1 4 2563POO H P 2 4 0 6 3 0 ilii:b,<- ( 7) 1 

1 5 2493F01 KF 2 4 0 9 3 1 lf.:ii~T- ¢ 1 1 (7 Jlt ~ 7-) 7 
·-

1 6 2558P01 HP 2 50 58 1 iii :b 1 < -!full ;If -'( ~ 1 

1 7 2501G KG 2 50 0 1 0 /f.:Wmz~o:..-~v-t-ASSY(US) 1 

1 8 5140C KN51040012300 7 7 ., t- 'r-"'1 Jlt S R- 1 2 p 3 0 0 1 * 1 9 +*1\M+"''l'* ~ M3X4 

2 0 +=¥1\M? ., t:• :..- 7' *:; M35X8 

2 1 A IJ IIJ., M 11:. ;( * ~ ( s Mll/64l.LJ40 X 5. 5) 

2 2 +=¥1\M t-7 A'J'* ~ M4X6 

2 3 +=¥1\M+~'J'*:; M 4 X 1 0 

2 4 ~ PJ 1\ M ;tt Jlt t- M 5 X 1 0 

2 5 24GOFOO KF 2 4 1 6 0 0 iiin,<- Ass Y 7*ft 1 

• 

I 
r 

I 

-19- (HI)5. 250 ~ From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



' I 

. I 

-20-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11.Jt 18Jifi11-ij- A~ 11 ~ {$ Q :a; Milt {)1ft :If AA 

1 2406F KF240060 1 "J J r / Y a ;:;onJIMJU-T 3 

2 2412C KC 2 4 0 1 2 0 r/Ya/a- (3) 1 

3 2404F KF 2 4 0 0 4 0 k!liW~ ., 1- 3 

4 7\PJ/\f.tJJ:;l*!) M5X8 

5 2491F KF 2 4 0 9 1 0 *iilitti ~ 8 6 

6 2439F K F 2 4 0 3 9 0 *:ii~v- r (U) 1 

7 5140C KN51040012300 7 7 ·1 r -T - :1 JJ., S R- 1 2 p 3 0 0 1 * 8 55C0150 EBY00150 3 7 2 0-"·>' )"rf{- )" 1 

9 2408F KF 2 4 0 0 8 0 ffiJE.unl:t*iW-TH 3 

1 0 2507PO'O HP250070 ;~Htf.nn.:r.. ~o ;...- ASSY {U) 1 

1 1 2493F01 KF240931 *ii~ti ~ 1 1 ( 7 JJ., ~ -J-) 3 

1 2 2558P01 H P 2 5 0 5 8 1 iiin,<-*iiff-1',.: 1 
.. 

1 3 2568POO H P 2 5 0 6 8 0 jjj;t,]l<- (3) 1 

1 4 1\1111\M;T. )J., r M 5 X 1 0 

1 5 1\111 1\ M ;y. JJ., r M 4 X 1 2 

1 6 A IJ IIJ" f.t}L.lJ!.tJ\.:t-:; ( s M 9 /64LlJ40 X 8) 

1 7 +::f=I\M~ 7 'J'*:; M3X6 

1 8 24G2FOO KF2416.20 iiin,<-A s s Y 3*tt 1 

'· 

~) . 

I 

! • 

-21- (81)5.250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



Q) 'IK Jh ml tl l(BEMRH) 

-22-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(?) • lh I! tl I (8 EMRH) .... lmili8-lt B 1:1 It -It fill 3 :f!i liD f,l 'I' m-tt lrllilii!-lt oil, 1:1. -It fill a :f!i II!ID • 't 

1 130DPOD HP13000D ilb~lt 1 4 4 '<-*IIi! 8 

2 1021P 1EP123008008 "1'•J., ~ SRH-12 P=300/60D 1 * 4 5 ll!.lii! 8 

3 1301POO HP130010 "1' •J ., ~'lu<- 1 4 6 "'11J+.,J. M8 

4 1305POO HP130056 "1'•J .,~:;t.x."'-~ 1 4 7 "'flJ.Y./1-J. M10X35 

5 31EXPOO HP314740 IIUIJ7'- IJ- 1 4 8 '<*l!ii! 1 0 

6 91148 A9011048 flll§.:z..:..,J. UFL004 2 4 9 .li!Biil: 1 0 

7 31ELPOO HP314750 ~"\"-:r..,~~Lfl!l§:-r±a 1 50 .li!Piil: 1 2 

8 92065 A9020065 V"''" 1- (3V-600) 1 5 1 +*A:f:t J. 7 ~'''* ~ M4X8 

9 1640P01 HP160401 I!IJ?t;-.l..-fj-1' l"'/11<- 1 52 1308P45 H P 13006045 "1'•J .,~:;t.x. C-i!:.-9-tn "'"'~~-· H 4 50 1 

1 0 31 Y3P01 HP313431 "''"HIIJ::.-.,.7 1- 15X35.5L 1 53 "'flJA:f:t.Y.JI-1- M8X30 

1 1 3UUC KC312210 71'1"7-~7'- 1 5 4 ,<:t.!!U~ 8 

1 2 31Y8POD HP313480 V7-f r7- (TPMV-6 4) 1 55 llt.li~ 8 

1 3 31DZP01 HP314631 ~-9-"1'-•J- CBEMRH. 0.5 5KW) 1 56 
·-~ 

1 0 

·I 1 4 31EAPOI HP314641 ~-9-"'-~ (MRH. 0. 5 "5 KW) 1 

1 5 31FVNOO KN315110 ~-9- n:-FBK8-4P-O. 55KI VF3 200V 1 

·5 7 +~A:f:tDll/1\*~ M4X8 

58 4'-•I:"+.,J. M4 

I 6 31EHPOO HP314710 "'"' J.'/11<- 1 59 "'11'17\:f:t:f./1-J. M8X25 

1 7 31EJPOO HP314730 "'"' J. '/11<-lillt-t"'- ~ 1 6 0 '<*fiil: 8 

1 8 31EBPOO HP314650 lfJJ;:f.L.. (MRHJft) 1 6 1 311JOPOO HP313200 "'lv J. a 7- '11 1<- 1 *Bil.lf(ltffii) 

1 9 1302POI HP130021 "1'1) "J ~~It 1 

2 0 31AJPOO HP313690 eJE147"'"' (8) 1 

2 1 31EDPOO HP314670 1111J:Himtt 1 

2 2 "'147\:f:t:f.9:.-:f.II-J. M4 X 1 0 

2 3 "'147\:f:t:f.ll- " M 5 X 1 0 

2 4 "'147\:f:t:f.JLo" M10X25 

2 5 "'11:17\:f:t:f.ll- J. M8X25 

2 6 "'11il7\:f:t:f.Jvt- M8X20 

2 7 -fJ-7'<* 8 

2 8 ~147\:f:tJI:;l:t.:J M6 X 1 0 .:fo-OPI 

~11'17\:f:t.!l:.J:t.~ M 6 X 1 6 

2 9 ~flJ7\:f:t:f!ILo J. M 6 X 1 5 ~-ifl 

"'PIA:f:t:f.ILo 1- M6X20 

3 0 "'A:f!ll- 1- M12X30 

3 1 .ll!llUz 1 2 

3 2 ~l!JA:f:t:f./1-J. M 6 X 1 5 

3 3 '<*li* 6 I 
3 4 lltfi* 6 

3 5 .ll!li~ 5 I 

3 6 ~11iJ+.,J. M8 I 
3 7 lll-.liil: 1 0 

3 8 '<*.Iii! 1 0 

3 9 "'tfrA:f:t:f.Jv t- M10X30 I 
4 0 ll!Pif! 1 0 i 
4 1 '<*Iii! 1 0 I 
4 2 ~11'17\:f:t:f.Jl-1- M10X30 ! 
" 3 I ~11'11\:f:t:f.Jl-" M8x35 I I 

(H(}S. 250 -23- rHJ )5. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(J) ~1&: IJJ fl t~ I (BESRH·BEXH) 

9 

-24-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(J) !I lb til M I (8 E S R H • BE X H) <!> -~ 1JJ It a I (BESRH • BEXH) .... IBiiiHift a Iii • ft IS a :s fiR (I ~ S"tlll'lli.ft 80S-It • " 6 •• " ~ 

1 1300POO HP130000 illl*lt 1 4 0 lf!llft 1 0 

2 1021P IEP123008008 '1•1 "'') SRH-12 P-300/800 1 * 4 1 ,<;t.fl* 1 0 

3 1301POO HP130010 .,..,.,')"hi<- 1 4 2 ~~~~~f:t:f(Jl,,. M 1 0 X 3 0 

4 3117H ·HH3132TO '11.1--4'-.:..:..,,. JB-5 1 4 3 ~1flrt!Jl.l- M10X40 

5 31EIPOO HP314T40 CM'1-•J- 1 4 4 '<-*II* 1 0 

8 91148 A9011048 Ulii:.:..:..,,. UFL004 2 4 5 lllfl* 1 0 

T 31ELPOO HP314T50 .:tf'V-.Y.7?ALfaii:T±U 1 4 8 ~,-r.,,. 1 0 

8 92081 A9020061 V"'!l.l- (3V-830) 1 4 7 i't1fllffJt,l- M10X35 

9 1840P01 HP180401 11117 11--£.-IJ':f rn,<- 1 4 8 '<*&* 1 0 

1 0 31Y3P01 HP313431 "'"'HI'J~+-7 1- 15X35.5L 1 4 9 ••• 1 0 

11 31111C KC312210 7-(r-7-Ar- 1 50 ••• 1 2 

1 2 31YBPOO HP313480 V7-rr.;- (TPMV-64) 1 5 1 +~7\f;t 1- -7 All'*') M4X8 

1 3 31YOP01 HP313401 .f:-~-'1-•1- (SR. 3P-50/BOHZ) . 1 52 1308P45 H P 13008045 .,.q.,')~~(~~9-8)"'"'~ H450 1 

• 31DYN01 KN314621 .f:-9-'1-•J- (SR. 1P-50HZ) 1 53 i'tlll~f<t:f(Jl,l- M8 X 3 0 

31DXK01 KN314811 .f:-9-'1-•J- (SR. 1P-80HZ) 1 54 '<*li* 8 

31Z2YOO KN313520 .f:-~-'1-•J- (X 3P-50/60HZ) 55 lit&* 8 

31DVY01 KN314591 .f:-~-'1-•J- (X 1P-50HZ) 56 lllll* 1 0 

31DIY01 KN314601 .f:-~-'1-•1- (X 1P-60HZ) 5 T +•~f:tlllll\* ') M4X8 

1 4 31Y4P01 HP313441 .f:-~-"'-A 1 58 """' t;;-r., 1- M4 

1 5 3111C KC 3 1 0 1 1 0 3tu.f:-~- (IIS·4P·O. 40-DBit-8) 1 59 i't1fl~f:t:f(JI,I- M8X25 

3112C KC310120 JIUU.f:-~- (7'JPS 4 0 3) 1 6 0 '<*ll* 8 

1 6 31EBPOO HP314T10 "'"' t-11r<- 1 6 1 1305POO HP130056 '1•1., ')~~"'-A 1 

1 T 31EJPOO HP314T30 "'Jl, 1-11,<-Jll[f;t~-A 1 6 2 i't1117\f:tJI::J-*'J M8Xl0 ·-· 1 8 1601POOO HP160010 11i1&~J.. 1 i't1f!itf;tJI::J-*'J M8Xl8 

1 9 1302P01 HP130021 '1 11., 'J§It 1 I 6 3 i'tA7\f;t:f!Jl.l- M6X15 .:fo-· 
2 0 31AJPOO HP313690 121EIII-7"'n.. <B> 1 i'tA~f:trt!Jl.l- M8X20 

2 1 31EDPOD HP314670 lllrllliff.tt 1 I 6 4 ;'t1fl:f(Jl,f- MB X 1 5 

2 2 ~PJ;tf:t:t£~:.-zt!li-1- M 4 X 1 0 I 6 5 3110POO HP31.3200 "'Jl.l-a7-11,(- 1 *1!1. li!UtfliiJ 

2 3 1 ~A;tf:tzt!JI-,. M 5 X 1 0 I I 
2 4 ~~~~~f:t:t!Jl.l- M10X25 I I 
2 5 ~#IJ~f:tzt!Jl,l- M8X25 I I 
2 8 i't111~f:t:f(Jt,t- M8X20 I i 
2 1 1 ·'" .. ott.;;<* 8 

.. 
I 

z"e i't1fl~f:t:f(J~ .. M 6 X 1 6 I I 

2 9 ! I '<*-lilt 6 I 
I : I 

3 0 j i'ttll:f!Ji-1- M12X30 I I 
3 I .!J'.IIf! I 2 I ; I 
3 2 1 i't#ll~f:t:f(JI-1- MS X 1 5 l I 

I I 
3 3 '<*II* 6 I ' I 
3 .. 1 !lJ!Iifl 6 i I 
3 5 lJ!Iift 5 1 

i 
i I 

3 6 1 i'ttf11"..,,. M8 
' 

3 7 llJ!!ifl 1 D ' I 
3 8 i ! ''*!ih!! I 0 ! 
3 9 I I :;'\JJ7\f:t;f.ll-l- ~fi0X30 I ! 

HI.~.1Si> -25- Hr 5. :!SO 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



12 

Or) 

01] 

4 

26 

-26-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



a-tt a a a o • -tt II dl. ~ lilt Cl !It ."" .v. • dl. 0 • ..,. a a fi •• • !It 

1 91318 A9013018 U 1-., 1- CM 1 2 x 1. 1 5 1 II) 1 4 8 ••• 3 

2 91138 A9011038 til~.:..:.., 1- ·( F Y H- U C F L- 2 0 2) 1 4 1 i'\ .. 1tf:t¥.11.1- r.ux12 

3 3UIIPOO HP314770 ~"\"-:tf., ~ ~n,<- CL > 1 4 8 ;'\ .. ~,.,...,.~~.,. Ml ox25 

4 31EIIPOO HP314760 ~"\"-:fl.,~~LM§Il 1 4 9 ;'\ .. ~ft¥JS.fo M5X20 

5 920A1 A9020101 ?.f!:...?'"(J!,f- 670•5Y2·25 (15134) 1 so +•~t:t11'7,r:t.? M4 X 8 

6 31DGPOO HP314.C40 ? .( ! :...?'.,._ •J- (J;) 1 5 1 lilllft 8 

1 31Y9POO HP313490 +- (j!i1f.) 8X6X32 1 52 '<*•• 8 -
8 31ECPOO HP31466C!~"\"-:fl.,?~LJ;M~•71- 1 53 ;'\ .. .,..,,. M8 

9 3110POO HP313500 ·- (jli:R,) 6X8X45 1 

1 0 31EGPOO HP314700 ~"\"-:tf.,~~ CL> 1 

1 1 91135 IA9011035 tt§.:..:..,t-lFYH-UCFL204) 1 

1 2 32559 HH320550 ..tflllilfltl., .,.,, ;.. ?' 1 

1 3 91216 A9012116 E15Jl:.J. r:felll ~1 1 

1 4 j91005 A 9 0 -1 ·0 0 0 5 "-7 11 "./?' (6 2 8 ZZ> 2 

1 5 31DIPOO HP3r4480 7-f t:?-?.f! ...,?'.,.- 11- 1 

1 8 31f1POO HP 3 1 3 4 1 0 IT-< t:?-0:,• 7"' 1 

1 1 31DBPOO HP314450 ? .(!:...?'.,._I}- ("'f') 1 

1 8 31EEPOO HP314880 ~"\"-:tf.,~~L"'F .. ~•71- 1 

1 9 31EFPOU HP314690 ? .( ! :;, ?'.,._ ., -&ti~.J 'II 7- 1 

2 0 91111 A 9 o 1 1 1 1 1 I .:. - r """ T '' "./ ?' c T L A - 2 o 1 2 z > 1 

2 1 I32113POO HP321130 "'Fflllilfi~§N(~"\"-:tf.,?~L"'F) I 1 

2 2 32A9POO HP321090 "'Fft.ilf:~•71-f1.,_ 1 

2 3 I3280POO IHP321100 lrM.ilfl'h.,.,.~:;,?' I 1 I . 
2 4 l3t19POO IHP313590 ~"\"-:f(.,~~<t> 70:...1-'h~- 1 

2 5 3214POO H P 3 2 1 1 4 0 j .tflllillittt§.:..:. 7 1- < S B F L N 0 2 ) 1 i 
2 6 I31XOP04 HP313304 ~"\"-:fl.,?XR ("("(JI.~"\"-m) 1 I 
2 7 I3IX1P01 HP313311 ~"\"-:tf., ~ X'h1<- (R) 1 I 
2 8 191007 A9010007 "-7Y:...?'CNTN6002ZZ) I 1 I 
.2 9 j 31X2POO j H p 3 1 3 3 2 0 i ":;, ,:.,._ IJ -it~ I I 

3 0 j 3lX3POO jHP313330 ""./ f:'1'-•J -&II~J '11'7- I I I I 

3 I I3259C K c 3 2 0 5 9 0 I " :.- f:.,.- •J - I 1 I 
3 2 j 1301POO i H p I 3 0 0 I 0 i .,. IJ ., ~'II,<- 2 

3 3 j 3281POO iHP321 I 10jTflll.ilfl'h.,'1'Q;..?''h~- I I I 
3 4 1 I 1-+•1:"1"71- M4 I I 

I I 
3 5 I I I i'\~i\M':tfl"" M 6 x 1 2 

~-"· M6 xI 5 I 
I 

! I I 

3 6 I i !7\~i'tf:t:f!'JI,,. M 5 x 1 8 I I I I 
3; i i I ;'\~;'\f:t:f.ll-1- M I 0 x 3 0 ! 

t I I I I 

I 
3 a I I 

;'\JI;'\f:t:tfll-1- M6x20 I I I I I I I 

3 9 I i i'\JI:f.J!,I- M3X75 L i I I I i 
"0 ! 

' 
+~i\f:t .. ., ;t/J\.t. '.} M4 X 8. I : I I I 

"1 I I "'~;'\f:t:f.ll.t- M6x25 l I I I I 
" 2 i I "'JI;'\f:tJ.I:..J.t.'.J M5X8 i I I I I I 
4 3 I I 

:"'~;'tlt:t!'ll-1- M8X30 : I i i I I I 

4 4 i I : ''*S~ 6 I I I i : ! 
4 ) I . +~'i\f:t 1- ":XII'*:; M 5 x 1 2 I I i 

HPS. 250 
- ... 

-?.7- !!I ~ •• : • From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ :r - -:l Jv • 7 v - A 

il 
::1 I 

5 

~I • 

-28-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ T- :7' Jil • 7 v-A O>!~ fit fl utr;: J: -=> 1: & il n< a~ .Q > 

-~ 
~iii11-ij- Cl f3 11-ij- • Cl 

~ milt 11m ~ a a a a 

1 1CP1230060060C 7-7J~ SRH-R 600 X 300/600 1 * 2 1483POO HP141130 7-- 7 J~§t: .;- ( 1 3 1 0 L) 9 * -- ........... -. --- ·--- -------------
3 1\flJ 7" ·1 t- 3/8 

4 rC:f:.~~ 3/8 

5 +::f:/\M-tJ-7**:; 5. 1 X 2 5 

6 1483POO HP141130 7- - 7 I~~.;- ( 9 5 5 L ) 5 I483POO~Wifili.ffi * 
7 I492POO HP140920 7--7 ;~§t:?" ( 4 3 0 I;) 1 

8 1484P01 HPI40841 MUIJ r- 7 J~S!t .;- 3 

9 14A8POO H P 1 4 I 0 8 0 M.llbr -7 J~§t.;- ( 2 3 0 L) 3 

1 0 14A1POO H P 1 4 1 0 1 0 7-- 7 J~§t: .;- ( 6 3 0 L ) 2 

1 1 1426H HH140260 7--7 )~~.;- 2 

1 2 1499P75 H P 14099075 7-- 7 J~~ .;- ( 1 3 6 0 L ) I * ' 1 3 1465H HH140650 7--7 )~~.;- 4 

a.• 4 1466H HH140660 r -7 J~S!t"rlfllMii' 2 
I 

'ail ., 1 5 liZ~~ 8 

1 6 ,< -i'liit! 8 

1 7 0PJ 1\ ff :f. )~ "' M8X30 

1 8 1AP1230060060C 71/-A SRH-12 600 X 300/600 1 * 
1 9 1\ 1fJ ;f{ )~ "' Ml6X70 6 

2 0 1\PJ 7" ·;~ t- M 1 6 

2 1 149411 HH140940 T - 7 J~ -IJ" rf. - f'- d ~ J.l: ;( I { * 
2 2 1292H HH120920 1\ 1fJ ;f. )~ "' M8X25 6 

2 3 1KP1230060060C Wlfi SRH-I2 600 X 300/600 1 * 
2 4 1293H HH120'930 -i!/9-~?/ t--i!·:~"' 4 

2 5 +*1\M:R.**:; 5. 1 X 2 5 

2 6 14A9POO H P 1 4 1 0 9 0 Mttl7 -7 )~-I}- rf.- "' 

2 7 1472H H H 1 4 0 7. 2 0 7-- 7 J~ -tt rf.- t- ~A 

) ·a ~2 8 1410P60 H P 14010060 r-7Jvx.:r- (H.At-c-?600.ffi) * 
2 9 1409POO H P 1 4 0 0 9 0 7- - 7 Jv x .:r- -tt rf. - t-

3 0 1\ 1fJ :f.'" t- M16X150 

• 

~l. 
-29- (111)5. 250 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~-· 

62 

53 
63 

45 

-30-

~41 
-~ 

14 

' 

39 

40 

.'1 ~:: 
G'f1jh-42 

w-~3 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



."'" uaw•"t & El • ~ u a :S mo fl 't 
·~ ~iti·-lt a B • ... • a :f5 G!IR (I 't 

1 33J7POO HP331970 §@):::J;:.- 1-D-JidJI(- 1 4 6 +~7\f:t 1-7 A'f'-* ;.1 M3X6 

2 3328C KC330280 tt•t~tw~v-1- 1 4 7 ~Ai\f:t.d:.J-*!.1 M5X8 

3 3317C KC330170 Mtl:i~v-1-»7- 1 4 8 1-:Ai\f:t.d:.J:t-~ M5X6 

4 55C0180 EBY00180 3740.:.-f;',r,~;.-ur- (US) 1 4 9 ~1fli\f:t:f.JJ,I- M6 X 1 2 

5 33FlP01 HP331511 83!@1~111""-;(. 1. 5 0 l<*fi* 6 

6 33F7POO HP331570 ~-?-n:·-9-;...,.71- 1 5 1 ~1117\f:t:f.JI.-" M4X6 

7 3362H 88330620 IM25TAI-v-l-•~9-""""~ 2 52 IfLlift 5 

8 91149 A9011049 FY8*~JL-vAt!D-8 0 (80FL-10) 1 5 3 I<*&* 5 

9 33F8POO HP331580 .:.- f;'JL-9-.:.::d•";.-.,.71- 1 54 ~P:Ii\:f:t:f.~l- M5X8 

1 0 t-:Ar-,1- M5 ti:*~ 55 ~trJi\f:t.d:.J:t-:.1 M4X8 

1 1 912FO A9012150 ~-~::.-A7AI-?,;..1'-(TW1530) 1 56 ~Ai\:f:trlfiL-1- M6 X 1 8 

1 2 91001 A9010001 ""7 IJ ;:, ?" ( 6 0 0 0 Z Z ) 1 57 IfLS& 6 

1 3 33JOP02 8P331902 1/i@I:::J::.-1-c-JL-:fC,.?A 1 5 B 77::.-:Jr-,1- M5 

1 4 3381H 88330810 ~'\'- I"~-9-RII-F6A5PC3-A5-180 1 5 9 ~ll!T"'!- MB 

1 5 3255H 88320550 J:flllj!~.fJ ')'-;/' IJ;:, ?" 1 6 0 l<:t-fift B 

1 6 31AJIIOO 8K 3 1 3 7 2 0 ~::.- :::J-9'-IIIIJ~-\"-NO. 1 1 6 1 IfLfift 8 

1 7 31T2C01 KC312921 ~::.-:::J-9'-tiiiJ~-\"-NO. 2 1 6 2 .IJZS& 5 

1 8 33j2P01 8P331921 ~=--:::J-9'-f¥~11 1 6 3 ~1117\f:t:f(JI,f- M 5 X 1 2 

1 9 51A2KOO KN511020 :r.~;..a::.-:::J-9'-051fii11Sm 1 6 4 ~flli\f:t:f(JL-1- M4X30 

2 0 33F9POO 8P331590 IEIEil&lliR.fJ7- 1 6 5 l<;t.fift 4 

2 1 3315G KG330150 US:::J::.-t-c-•9-.:.::.-?"~v-1- 1 6 B ~trJi\f:t:tf/1..1- M4X22 

2 2 33F2POO 8P331520 ti1911'§1Eil VI<- 1 6 7 IfLSift 5 

23 3331C K C 330310300 191Eilil~c,.f;' L-250 1 6 8 1-:I'Ji\f:t:fCJI,f- M5Xl0 

2 4 91201 A9012001 .:z..:..Y.-•~s~::.-1- NMBRD4020R 1 6 9 ~1117\f:t:tf/1..1- M6X20 

2 5 23D4POO 8P231340 IEIEil~"~::.-t-1:"::.- 1 7 0 ~1117\f:t:tf/1..1- M8X25 

2 6 3341C KC33041·0 DOJ?iiJic,r 7 1 1<-*Sit B 

2 7 3377H 88330770 1-:Ail~· 1 7 2 IfLllfi 8 

2 8 33G1POO BP331610 t-:tr~ilea• 7 3 ~1117'"11- M4 

2 9 33F6POO 8P331560 c.,'Jv,<-1:"::.- 1 7 4 ~1117'"11- M5 

3 0 91209 A9012009 .:z..:.:f(-JI,;)g.{;:,f- NMB PR-6 1 7 5 1<:t-llft 4 

3 1 95611 A9056011 c-9•1-'JvJ~ I" 6SR25-27 X 3. 4. 9 1 7 6 IfLllfi 4 

3 2 33F5POO BP331550 c-,?'JvJ~ f;'vl<- 1 

3 3 33GOPOO BP331600 •J::.-?c-,?v,<-

3 4 91255 A9012055 E~li:.J ta ( 9 4) 1 

3 5 2363F KF230630 D.,? VI<-;...,. 7"' 1 

3 6 33F3P01 8P331531 83!191c.,? v1<- 1 

3 7 7"""'1'-*:,1 M4X60 

3 8 A~IJ ::.-?"!:"::.- 9 6 X 1 2 1 

3 9 740F3QO HQ 7 4 1 F 3 0 ""'"?7::.-'Jffl:fCJ!,I- 1 

4 0 33J4POO BP331940 c-,?~tl:i7'v-1-~IIJ'1'v-~ 1 I 
4 1 33J6POO HP331960 c.., ?~tii'1'v- t-til'Jv1<- 1 

4 2 33J3POO HP331930 c-,?~W7'v-t- 1 I 
4 3 33j5POO BP331950 c "'?~W'1'v- HIDEfi 1 I I I I 

4 4 3367H 88330670 A 1- '71-(-%.4'--1: ::.- ! I I 
4 5 i : +*7\f:t "'7.;(./j\;t.y M4 X 1 0 i I I 

I HI •5. 250 -31-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-32-

J : 
I 
! 

~-
f -

I 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ ~iii-~ ~ El • ~ M Cl g illite «ft :1t CD 

1 5418F K F 5 4 0 1 8 0 ~l::fj?"v-~7-·:~~ 1 

2 5416F KF 54 0 1 6 0 "f*~W?"v-~ 1 

3 1\111/\#ll:J;f.:J M6X6 

4 5417F K F 5 4 0 1 7 0 ~l:fj?"Lt-~;f:.:J 1 

5 1\ 1fJ /\ f.t :f. JJ.. ~ M 6 X 4 0 

6 5414F K F 5 4 0 1 4 0 "f*7-1 ~ ~?'-t?:.r~-7'7?"·:~ ~ 1 

7 5413F KF 54 0 1 3 0 "f*~~9-1~~?'-t?~~-(TLX5) 1 

8 5411F K F 5 4 0 1 1 0 "f*~m-e~~-(E3YGS 3-355) 1 

9 +*/\# ~ 7 ,7./j\;f:.:; M3X8 

10 lJ!m!~ 4 

11 +*/\#9':11:"~~~7;f:.:J 4 X 2 0 

12 5401F KF 54 0 0 1 0 "f~7 ~?":f. •y 7 .7. 1 

13 5412F \ K F 5 4 0 1 2 0 "f*~9io7~?"(E3YGS 3- 3 5 A) 1 
-

14 5410H HH 54 0 1 0 0 "f*~mlli!Jill.Y.·:~?.A..< 1-1 3) 1 

15 lJ!Imii: 3 

-33- (HI)5.250 

~---------------------------------------------------------·-

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



• 

-34-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ *tF .~IK mJJ mt ~- (V • Hn~) I 0* let lUI fi: J: ? 't' sffa 11 tJ<" « l> ) 

ilt-ij- 1Jiii11-ij- Cl 13 11-ij- $ Cl ti (Ill {)1ft ~ a a a a 

1 4840NOO KN480400 f"MtJJ 1.1- Jl.- 4 7 0 L 6 * 
2 4835NOO KN480350 m.lh v-Jv 9 2 0 L 1 * 
3 1FP1230060060 Wt7LI-.L. S RH 1 2 600X300/600 1 * 
4 /\~§7- •y ~ M4 

5 lJ!m~ 4 

6 111ft 1m~ 4 

7 +::f:~M'lt '711'*:; M 4~x 1 2 

8 48TOP60 HP48290860 H-t! /9 -*l*l:IJ,~- (A.~ o -7 6 0 0) 3 * 
9 +::f:~ft'lt 7 11'* y M4X8 

1 0 ;:f.yl:'?-':1~ M4 

1 1 48M1PRR HP482218600 V*I*J:IJ,<- (A.~ o-7 6 0 0) 1 * 
1 2 4708H HH470080 ,-: Jl.- A. -=E- - 9 - i!Ua ::-- .y 7 ~ )'{I 1 . 
1 3 91128 A 9 0 1 1 0 2 8 D U 7 •y Y .:z. (M B 1 5 1 0 D U) 1 

I i I • 1 4 +*~M'lt-7*-*:; 5. 1 X 2 5 
'...:111 1 5 7380C 1LPI230060060 -~Wt S R H- 1 2 600X300/600 1 * 

Ia 
~ . 

• 

. 
-35- {HI)5. 250 

L. 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



e 

16 

12 13 

10 11 

18 
9 

17 

-36-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ 
IS!ilii11~ 

Cl § 11-f} {$ Cl 
~ Mit {118 $f a a a a 

1 48S8P01 HP482881 Ho-7-A(-.A ('jfiJ) 1 

2 1\11.! 1\M:f. Jt.- r M 5 X 1 0 
-~... • .. • • 0 ~ • 

-------~----

3 48X7POO HP483370 m WJ A( 7 •J ';/ ?' t· ';/ A s s v 1 

4 48T5POO HP482950 o-7-t.':/MA 3 

5 48S2P60 H P 48282060 H-~~-~A(-.A·ft~(600ffl) 2 * 
6 48TlPOO HP482910 V iJl ~ - JL- ( L = 1 0 6 0 ) 2 . 
7 48T2POO HP482920 JjiJ(JI!J ~-JL-.A~-~- - 1 6 

8 48S1P60 H P 48281A60 H~':/~-*~~-~~-.A(H600ffl) 1 * 
9 4612P01 HP460121 HW:.tl:;t ~A (Jtil) 1 

1 0 4617POO .HP460170 f!/!.11: ;l t• ';/ 1 

1 1 912C6 A 9 0 1 2 1 2 6 KB/'·:~~.:2. (KBB-0 4 0 6-D) 1 

1 2 4616POO HP460160 W:.tl:;t:Jo 1 

1 3 912C7 \ A 9 0 1 2 1 2 7 Em.tJ:;r ta <lliPcJf13 > 1 

)-.. ) 1 4 +:.J::Itft-fJ-7tJ\*:; M4X8 

1 5 1\ 11.1 1\ M -r ·:~ r M5 

1 6 1\ 11.1 It M .r. Jt.- r M4X8 

1 7 1\PJ ti-t-·:~ r M4 

1 8 .ll!lit!ir: 4 

1 9 1\ 11.1 1\ M :f. Jt.- r M 4 X 1 0 

2 0 1\ trJ " M .r. Jt.- " M 4 X 1 5 

2 1 +:.J::/\ft-fJ-7**:; 5. 1 X 2 5 

2 2 lJ!Iiir: 5 

2 3 ... <*Imlfl 5 

-37- (HI)5. 250 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



·---------------·----------------

a 

-38-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-ft lmili11"t .fA~ • .ft 18 .fA g liB • 't .... ll!lili•-~t .fA Iii II -It B 1-
.H. g lilt " 't 

1 48V3P60 8P48313860 HJ :o<-i!f1i~1' ;...*It- (H 6 0 0) 1 * 4 6 '<*Sst! 5 

2 48S7P01 HP482871 H a-7-...:.-A (fl) 1 4 7 l!!S!* 5 

3 91006 A9010006 ...:, 7 IJ :'1 ~ ( 6 2 5 .z Z) (1650) 1 4 8 l!!S!ft 4 

4 48S3P01 HP482831 m1JJ...:.7•J::..-~I:"::..- 1 4 9 i'\11JSH·., 1- M4 

5 48TSPOO HP482950 a-?-1:"::..-UA 4 50 t.1117\:t-t:t!Jt-t- MS xtO 

6 92098 A9020098 ?..(;. ;,~"''"' 1- 300S5M2000 1 5 1 '<*Shk 5 

1 481:3801 HH482031 "''"' 1-i!fUtA NO. 1 1 5 2 l!!S!* 5 

8 481:4801 HH482041 "''"l-i!f1i&A NO. 2 1 5 3 +~~t-t 1-7 A'l'* :J M4X6 

9 48T4POO HP482940 ?..f!::..-~...:.~t-t-~~7,, (SM) 2 5 4 i'\11J7\:t-t.Y.?:..-:f.Jt-t- M4X6 

1 0 H1~JI;A~-~ -i!fS~'I' 7 1- 55 i'\At\:t-t:t!IL-1- M4X6 

11 48J3801 HH481931 1~1~-A~-?-:11, 7'•1 ::,..~ 3 56 i'\11J-r., .. MS 

1 2 48J08 HH481900 ~~II-A~-?- ( 4 M) 2 5 7 +~7\:t-t-lt?tl\*:J M4X8 

1 3 48J1H01 HH481911 HI~I~-A~-~ -'"f7'r, 1- 1 5 8 t.trJ7\:f:t.Y.II.- 1- M4X8 

• 1 4 48J48 HH481940 l~li-A~-~-'"f7Jr'1 j-:fJJ(- 1 

1 5 4807POO HP480070 v-IL-±a7 .z.ll; t- SRH1 000X30X6 1 

5 9 +~i':t-tt-7A*:J M3X6 

6 0 t.11J-r, 1- M3 

1 6 48j88 HH481980 ~ 1 9 lll'J , 7 ::,.. 71 1- 1 6 1 95333 A9053033 11/o;;t 1-., 7'$..(.·'r-.,. II- 0. 75X 180 

1 7 48T9POO HP482990 ~8!1))71- IJ- (fl) s 5 M 1 6 2 +:r;i':t-t 1- 7 :itll\* :J M3 X10 

1 8 91163 A9011063 .=.- t:II;...:.7•J ::,..~ TLA2016 1 6 3 i'\11J7\:t-t:f.Jt-t- M 5 X18 

1 9 481:18 HH482010 H11PU.l7'- IJ- '"f?,., 1- 1 6 4 I t.tJJi'::t-t.Y.Jt-1- M 6 X25 

2 0 48J7H HH481970 l<li-A~-?-i!f1i~1'7 l-:117- 1 6 5 '<*S!fl 6 

2 1 i'\1ll"t-t.I};J*:J M5X8 6 6 SitS!* 6 

2 2 48T1POO HP482910 ViJtv-~t- L-1080 2 6 7 +~i':t-t 1- 7 All•* :J M8 X12 I 
2 3 4819H60 H H48209860 HB~v-JI;±b(At-a-f600) 1 * 6 8 i'\1lfi'::t-t:t!Jt-t- M8 X30 

2 4 91252 A9012052 E J9J};J ta ( ~ 1 0 ) 1 6 9 SJ!S!fl 8 

2 5 48T8POO HP482980 ~CIJJ-1'- •J- (fol) S 5 M 1 7 0 '<*ll* 8 

2 6 91179 A9011079 .=.- t:Jt- ... 71} ::,..~ TA-1225 1 7 1 i'\11J-r.., 1- M8 

2 7 48L1H HH482110 71- IJ- ~ 1' 7 1- If, )I; j- 4'- 1' "1 7' 1 7 2 i'\11Ji'::f't:t!JII 1- M4 XIS 

2 8 48J9H01 HH481991 l!tiiJ71- I}-~ 1' 7 j- 1 

2 9 4810H HH482000 HB~r.J'"f- IJ- '"f7,.., 1- 1 • 7 3 i'\#f!~t-t.Y.Jt-1- M 5 Xl8 

7 4 i'\tiJ.Y.JL-1- M4 X40 

3 0 4SA4POO H P45104060 ~A 1-, ?'tiH L-636 1 * 7 5 i'\11J.Y.Jt-t- M4 X25 

3 1 45A1POO HP451010 ~A 1- ,?'tUit-tb (R) 1 7 8 l!!lifl 4 I 
3 2 4519C KC450190 ~A 1- , 7'tiD2t-ts ( L) 1 7 7 l!!llfl 8 

3 3 ii.Y.JI;I- M5 X15 1 8 1. '<*II* 8 

3 4 4547C KC450470 ~AI-"17':117- 2 7 9 i'\11J-r.,t- M8 I 
3 5 45A6POO HP451060 ~At-,7'-t:::..--tt-?'v-t- 1 8 0 i l!!ll* 4 I i 
3 6 912C7 A9012127 E J9J};J ta (JfC1113) 1 8 1 1 1'<*11* 4 I I 
3 7 4616POO HP460160 ~.I};J::::IC' 1 8 2 ! t.At\:f.t,.f-11-J- !\14 X 18 ! ! 
3 8 4817POO HP460170 ~.I};JI:":'I 1 8 3 i i'\14/tt-t:f.JI.- 1- :.14 X25 

3 9 4811SPOO HP482450 HMJ11Jo-7-D2t-t'"f7'r,t- 1 8 4 i ji'\11J-r..,t- 4 I 
4 0 912C8 A9012126 KB'"f,~.:o. (KBB-0408-D) 8 5 I l!!Ei* 4 I I 

I 
4 1 48117POO IHP482470 HMJ11Jo-7-&IUI:f17- 1 8 8 ! I l'<*m* 4 I I 

I 

4 2 I48P9POO HP482590 HMJitJo-?- 1 8 j ! ll!!!ifl 4 I I 
4 3 I48WSPOD iHP482460 Httli1Ja-?-lrlt-t:f17- 1 8 8 : l i'\PI/tt-t:t! '" 1- :.18 X25 ! I 
4 4 j 48V8POO iHP482480 HM.IIIIa-7-Jttf:t--;.-;;t I 1! I 

s 9 I ).iJ!!iil! 8 ! 
4 5 i : I t."'t\:t-t:t!'"" :\1 5 X3Q ! ! 9 0 ! ,~ :t.B!~ 9 

~ 

IJI 3. 250 - 3~-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-40-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



.... rill iii Z-It a. Q • ..,. • .Ill 45 •• (I IJt S-it llili.-it a.ms-~t • a :f!i Gill! • IJt 

1 +~l'tf;t "? ~'''* ~ M X 4 6 48J4H HH481940 ~~~~-~-{:- ?-1'77., "'hi<- 1 

2 48X7POO HP483370 ftJIIJ"'7'J ;:,~~;:,ASS Y 1 4 7 +~l'tf;t 1-? A'''*~ M3 X 6 

3 48S9P02 HP482892 va-?-,.-~ (3) 1 4 8 ~11:1/'tMif!Jv t- M3X6 

4 .IIZIU! 5 1 4 9 ~11JT"II- M5 

5 48V1P01 HP483111 ISIIJ"'7'J;:,~~;:,ASSY B 1 50 i'\fll-i-"11- M3 

6 48T5POO HP482950 a-7-~;:,lfiA 8 5 1 i'\Pfl'tf;tlf!JI. .. M 8 X 3 0 

7 45A6POO HP451060 ~Al-':'1'i::.o~-1'v-l- 1 52 +:!i=l'tM 1- 7 A'''*~ M3 X 1 0 

8 9%098 A9020098 ?-{~;:,?'"'n.t- 300S5M2000 2 53 ~11JI'tt-t:f.Jv t-" M5x22 

9 48T7POO HP482970 "'n,f-lji.%.(5M) 4 54 '<*li* 5 

1 0 4813801 HH482031 "'A-1-ilfli*A Hill 2 55 .i!!fi* 5 

1 1 4814801 HH482041 "''" 1-ilfti*A Nil2 2 56 ~I!J;'tf;t:f.kt- M5Xl0 

1 2 48P8POO HP482580 V?il.llba-7-112MBRKT 1 57 ,<*•* 5 

1 3 4617POO HP460170 ~~;1~;:, 1 58 lJ!fifl 5 

1 4 912C6 A9012126 KB1''='::-.a (KBB-0 4 0 6-0) 1 59 lJ!6ht 4 

1 5 4616POO HP460160 f!;Ji;l:ra 1 6 0 i'\Pf&-i--?t- M4 

1 6 912C7 A9012127 EJS.Ii;lfa(lftFi! 3) 1 6 1 +~l'tf;t "7 ~'''* ~ M4X6 

1 7 48P9POO HP482590 H~.llba-7- 28-2280 1 6 2 i'\111/'tf;t:f.JI. .. M4 X I 5 

1 8 48P6POO HP482560 VM.IIba-?-all!'lh?- 1 6 3 7\t!J-r., .. M8 

1 9 48P7POO HP482570 VM.IIba-?-112f;t"'-~ 1 6 4 '<*fi* 8 

2 0 48TlPOO HP482910 Viltv-Jv CL-1 o 6 o> 4 6 5 .lllfi* 8 

2 1 48L7PRR H P48217C60 v•~v-n.±u 2 * 6 6 i'\tll:f.A-1- M4X25 

2 2 45A5POO H P45105054 ftA I- "1 1' .. L-580 1 * 6 7 lJ!!Ifl 4 

2 3 4547C KC450470 ftA I-., 1'b7- 2 6 8 i'\11.1/'tM:f.Jv t- M4 X I 8 

2 4 ll:f.Jv t- M5 X 1 5 2 6 9 ,C*fi* 4 

2 5 4518C KC450180 ft~ 1- ., 1'ftll2t-.tb R 1 7 0 .IJ!!I* 4 

2 6 4519C KC450190 ~AJ-.,1'ftJltf;tbL 1 7 1 .IJ!II* 8 

2 7 48P9POO HP482590 ~A 1-., 1'.Ql•t,7-1'Jv 0.75Xl80 1 7 2 !j!.ll* 8 

2 8 48KOOH HH482000 H·~ftll":t-•J-1'77'., 1- 2 7 3 '<*!I* 8 

2 9 48J9H01 HH481991 fU~.,.- I} -::,.."" 7 " 2 7 4 i'\flll'tf;t:f.Jv t- M 8 X 2 5 

3 0 i'\llJ :f.'" " M4X40 2 7 5 '<*II* 8 

3 1 48L1H HH482110 1'-•J -::--to 7 1-Jf!JJ, 1-4'-'1"., 1' 2 7 6 .IJ!Ii* 4 

3 2 91179 A9011079 .:.- t:Jl-"'7'1 :.0?' TA-1225 2 7 7 i'\tlll'tf;t:f.Jv t- M4X20 

3 3 48T8POO HP482980 ~~IIJ1'- •J- OFr> S 5 M 2 7 8 i'\tlJI'tf;t:f.Jv" M 5 X I 8 

3 4 91252 A9012052 EJB.ICJta (!f/1 0) 2 7 9 i'\111/'tt-.t:f.JJ," M6X30 

3 5 48J78 HH481970 I~)VA.f:-? -ilfti::- -to 7 "b 7- 2 8 0 '<*II* 6 

3 6 i'\t!JI'tf;t.Lt;l*~ M5x8 4 8 I 31!11* 6 

3 7 y,~,t-A-t:-?-i!tt::.-'\"7 t- 1 8 2 I i'\tll1\t-t:f.Jv t- M5X18 

3 8 91163 A9011063 .:.- f:Jv---7 11 ~'T TLA2016 2 8 3 1 i'\tli1\M:f. '" t- M6X25 

3 9 48113P02 HP482232 v•~ta§±fr I 8 4 1 '<*Iii! 6 

4 0 a-11-~~ 4 X 3 0 2 8 5 .IJ!Iiii! 6 

-1 1 48T9POO HP482990 ~~1111'- IJ- (il) s 5 M 2 8 6 1 i'\trl-i--?1- M8 

4 2 I48J8H HH481980 ¢>1 9!11:?7 :.-1' 2 8 7 I4B07POO HP480070 v-11..±!17 s.JI. 1- S RH 1000X30X 6 1 

4 3 48J3HOI HH481931 1 ~ J1, A-{:- ? - fJ "1 1' IJ ~ ~ 2 8 8 i'\tll-i-•J 1- M4 I 
-1 4 48JOH H H 4 8 I 9 0 0 I ,~ '" ~ .f:-?- ( 4 M) 2 I 
-1 5 48J1HOI 'Hij 4 8 1 9 I 1 I H,~,~.~-t:-1-"1?7 ., " 

! I I I I I 
(HI 5. 250 -41- (HI 5. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



EM R H) (@$1JWJ~~ (8 
17 

22 

26 
27 

ul 
44 : 

43 1 

-42-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



. @ ffilj 1ftn ~ 1* ( B EMRH ) 
fjj:{5- 181ootlt{} c 13 tit i5- ~B 

c :g @~ liM ~ DD DD 

. I 51 G3NA1 EAY O I 7 A 2 :;t-J--;> ·:~ I-::J /J-.o-7 BEMR 1 

2 55ROOOO E B Y 0 0 4 5 0 4 4 I 0 CPU~:!& I 

3 55ROO IO E B Y 0 0 4 6 0 4 4 2 0 ;1. 'E' 1) -~~ I 

4 55R0020 E B Y 0 0 4 7 0 4 4 3 0 FDSP~:I& I 

5 55R0040 E B Y 0 0 4 9 0 4 4 5 0 ?' ")' - ;§!;~ I . 
6 55R0050 E B Y 0 0 5 0 0 4 4 6 0 7..1·:~T:IU~ I . 
7 55R0030 E B Y 0 0 4 8 0 4 4 4 0 B / Bi!i!i~ I . 
8 51N5POO H P51 2 3 5 0 ::J /J-.o-7-@1~-<-'7.. I 

9 51N4POO HP 5 1 2 3 4 0 IIHt t:i' 1) t' tJ I { - 1 

I 0 51N3POO HP 5 1 2 3 3 0 ::J / J-.o-7 - @l~flll I 

I I 51NIPOO HP51 2 3 I 0 :J /J-D-7-Jfl1ftf::i' I 

I 2 51N2POO 1-1 P 5 I 2 3 2 0 ::1 / I· o- 7 -Jfl1ft 7.. 7- I 

• I 3 5202C KC 52 0 0 2 0 ,.. 7 /'7.. '/]J { -f! ';/ ,.. I 

• I 4 ~ trJ /\ ft ;f{ Jl- ,.. M 6 X 30 

• J 5 ~![:.:i:f . 
I 6 5iGHA3 E.-\ Y (J I 8 A 3 :;t- ""' ';/ ,.. 1-7 /'7.. BEMR IP I 

51 G3NA3 EAYOI 7 A 3 :;t ;-J--;>•;J ,.. J-. 7/A. BEMR 3 p I 

I 7 5318F K F 5 3 0 1 8 0 ~;7.,.{ ·:;77'7 7·:; ,.. C* ) 2 

I 8 5315F K F 5 3 0 I 8 0 j!jl;f{ :$' /'7..1·:~7 .:r '\' "/ -j' 2 

1 9 53 11 F KF5301 I 0 j!jl;f{:$' / 7..1 ·:; 7 MS 320 (liT.) I 

53 J2F KF 530 1 2 0 j!jl ;f{:$' /'7..1·:;7 MS 3 1 9 ( tik) I 

2 I 5316F KF 530 1 6 0 7..1 ·:~ 7-~ I 

2 2 5222C :.;c: ~ ~ ~~ .r - - _,..J • 

- ~·- ? -: ?.: -
2 3 53 17P KF 5 :iG II G ;7.,.{ -;-f' ~.:l'--;.. -; "1' 2 

2 4 -¥m~8 

2 5 51G3NAI E AYOI7Al :;t-J- -;>7J-::J/ J-o-7-BEMR I 

2 6 55R01 20 EBY00570 4 5 9 0 B / B·L~l& I 
. ! 

~. Q 
2 7 55R0090 EBY0 0540 4 5 4 0 I ~ )!, A 'E' - :$' - :J / ,.. 0 - 7 - ~ f& I 

28 fifiRI\t):il) rr\ ::~~: It ~ ~ ' .. ,_ ~ ;:;,~ 
" . - · --- -- --- -

2 0 55RO IOO EI3Y0 0550 -1 5 6 0 m~\it11!!11~~& I 

3 0 55R0070 EBY0 0520 4 5 2 0 ") v) 1 ,....~~ I 

3 I 55R0060 EBY00510 4 5 I 0 1/:$' -7 :t.'7..i!i!i~ I 

3 2 55RO IIO EBY 00560 4 5 8 0 B / B · R~~ I 
~ 

3 3 +::f: A fi7 ·:~ 1:" /JVJ';t.;./ 4 X 20 
• 

3 4 + ::f:A{i -+t 7 tj\;t, y M 8 X20 

3 5 +==F= A ft,.. 7 ;7., 1]\q, y M 4 X 10 . 
3 6 ¥m~ 8 

3 7 ~~7' ';/ ,.. M 8 

3 8 55ROI4 0 E B Y 0 0 6 3 0 70 ·:~1:" - 7'-i 7..7 t-=' 717' FD - 1 I 3 7 C 1 

3 9 l]il::? :/;·- 6 

4 0 /7'7'·:~1- M 6 

4 I ,q,m~tt~tl1Aft¥JI- 1- M 6 X 12 

4 2 ~ ~ A ft ¥ Jl- 1- M 8 X 15 

4 3 ~f11 A ft¥ Jl- 1- M 8 X30 

4 4 lq·,ffi~ 8 

- 4~ -
( 111) 5.250 

lL 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(@ jfilj~IIJ~ 11 , .. ( B E S R H) 

-44-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@) ffitJ ~atJ ~ ~ ( B E S R H) 
11-ij- ~iliHI~ &l. 13 11 -ij- $ Cl :t milk fill 't IZA 

1 51j2CAI EAY009Al ;t- l'-7·:~ t-::J/ t-o-7- BESR 1 

2 55N0090 E B Y 0 0 4 1 0 3 4 0 4 I c j. .:r IJ ~ - ~ 1 

3 55N0070 EBY00320 FM20X 1 A A-D )(::f:~~.:L=- ':1 t- 1 

4 55C0050 EBY.00060 3 4 2 3 A CPU~-~ JR. SR 1 . 
5 55C0080 EBY00090 3435j3, JR. SR .{/9-7.x.-.Aiiti 1 

6 55N0060 E B Y 0 0 3 1 0 3 5 0 3 r'·:~7~-l" 1 . 
7 55C0190 E B Y 0 0 1 9 0 3 6 1 2 r 1 .A :f,v .{ ~t!{ 1 

8 519511 HH 51 0 9 50 ;t- t- 7 ·:1 t- "'-.A ( H M- J) 1 

9 51J2CA2 EAY009A2 ;t- l'-7 ':1 t- ~7 .{ ,,_ SR 3 p 1 

51L2CA2 EAY010A2 ;;t- r7·'1 r 1"7.-fr<- SR 1 p 1 

1 0 55N0050 EBY00300 3 5 9 0 ~-?~1!1~-~ (.Q!@) 1 

55N0040 EBY00290 3 4 9 0 .:r-?IKfJJ~-~ ( 3 tft) 1 . 
1 1 55C0110 EBY00110 3 4 7 0 r 7 /y.A?-~- r J 3. J 4 2 

1 2 5317F K F 5 3 0 1 7 0 .A.{ ''IT~.:f-\' ·:~?" 1 

1 3 55C0070 EBY00080 3 4 6 2 ~71,<-t~Jfll~- r 1 

1 4 5222C KC520220 T- :f IJ - ?'- PTR-5 1 

r 5 +*1\M 9 ·:~ t:• /~Vl'-* Y 4 X 20 1 

1 6 1\ 1f1 1\ ft :r. '" r M 3/8 X38 1 

1 7 5318F K F 5 3 0 1 8 0 ft.A.{ "17-?"77- ':1 t- <*> 2 

1 8 5315f K F 5 3 0 1 8 0 ttP:f.? :---A1·:~T.:t=-~ ·:~?" 2 

1 9 5311F K F 5 3 0 1 1 0 flp:f{? /.A.{ ''IT MS320 (~) 1 

5312F KF 53 0 1 2 0 tiP~? /.A.{ ·:~T M S 3 1 9 (~) 1 

2 0 5319F K F 5 3 0 1 9 0 $.A.{ ':1 T'1'7Jr"' t- (lj\) 1 

2 1 5316F K F 5 3 0 1 6 0 -A..f·:~Ttt 1 

2 2 52020C KC 52 o 0 2 0 J--7/,Ai'JI{--t!,./ t- 1 

2 3 51j2CA3 EAY009A3 .-t-t--:t':lt-t-7:--.A BESR 3 p 1 

51L2CA3 EAYO 1 OA3 :t- t--:t·:~ r t-7 :---A BESR 1 p 1 

t 2 4 1\ 1fJ 1\ ft ~ '" " M 6 X30 

2 5 -¥111!~ 6 

2 6 Q-T·:I" M6 

2 7 lJ?.~~ 4 

2 8 ,, _:fq~i£ 4 

2 9 1\PJ 1\ ft :f{ '" t- M6X20 

- -. 

-45- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-46-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ ifitJ fill ~ 4* ( 8 E X H ) 

-~ 
rBJiii11~ 

a 13 11-ij- $ a :t «<ll {11ft ~ a a gg 

1 51j3CA1 EAY011A1 ;t-r7·:~ r:J:..-ro-7 (BE X) 1 

2 55Y0050 EBY00340 4 0 5 0 ~~~Hi .. 1 

3 55Y0060 EBY00350 4 0 7 0 tj:JtfE:f.-"" 1 

4 51J3CA2 EAYO 11A2 /l"- r7·:~ r t:'7-1,<- BEX3P 1 

51L3CA2 EAY012A2 ,.-- r 7 .. , r t:' 7-1 '"- XlP 1 

5 55C0110 E B Y 0 0 1 1 0 3470r7/YA~-~-~J3. J 4 2 . 
6 5195H HH 51 0 9 50 /l"- r7·:~ r~-A (HM-J) 1 

7 55C0070 E B Y 0 0 0 8 0 3 4 6 2 ~7 ..( J{-ffj-JjfAU~- t:' 1 

8 55Y0020 EBY00260 4 0 4 X .:r- 7 ~lb :f.- ~ ( B EX) 3 p 1 

55Y0100 EBY00660 4 0 4 X .:r-~tiiVJ:F- ~(BE X) 1 p 1 

9 55Y0030 EBY00270 403X -1/9-7;~:.-A:ft-~ 1 

1 0 55Y0130 EBY00590 4 0 2 2 CPU:F- r" (BEX) 1 

1 1 5222C KC520220 T - -:1 IJ - .y- PTR 5 1 

•• 1 2 ~ 111 1\ M :r. ~~ r M3/8X38 .. 
1 3 5317F K F 5 3 0 1 7 0 A-1 ·:~f-f*4=-? ·:~-f 1 

• 
1 4 5318F KF 53 0 1 8 0 MIA1·:~r-:t7?-·:~ r <*) 2 

1 5 5315F K F 5 3 0 1 5 0. tfll :ft 9 / A ..( ·:~ f- 4=- .y ·:~ -;t 2 

1 6 5311F K F 5 3 0 1 1 0 MJ:ft9 /A-1 ·:~ f- MX320 (~) 1 

5312F K F 5 3 0 1 2 0 f!lf:ft9 /A-1 ·:~f- M S 3 1 9 <a) 1 

1 7 5319F KF 53 0 1 9 0 f4!A-1 .. , f-7'7 T ·:~ r (lj\) 1 

1 8 5316F K F 5 3 0 1 6 0 A..( ·:~f-f* 2 

1 9 5202C KC 52 0 0 2 0 r 7 :..-A t,p<- -tt ., r 1 

2 0 51J3CA3 EAY011A3 /l"-r7·:~r r7 /A BEX3P 1 

51L3CA3 EAY012A3 ;t-r7·:~r r7 /A X 1 1 

2 1 1\ 111 1\ M :r. ~~ r M 6 X30 

2 2 ~Ji~6 

2 3 +¥1\M9 ·:~ t:•:..-:~Vl'*:; 4 X20 

•• 2 4 Q-r., r M6 
... 

2 5 lJ!li~ 6 
• 

2 6 '"*~~ 6 

2 7 ~ fif 1\ M .r. ~~ r M6X20 

-47- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-48-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-f} IS!ililt-ij- ~~--l} $ Cl :g lilt {ll ~ a a 

1 27F2N01 KN 2 7 1 52 1 *-IJJ 1):) A±i3 1 

2 27J8NOO KN271980 r,Y~;l A~WJ l,.u{- 1 

3 2797C K C 2 7 0 9 7 0 r*;lAIEJEfi!J 1 

4 27F6NOO KN 2 7 1 56 0 j. A l,.u{- 1 

5 27G1NOO KN 2 7 1 6 1 0 J:.*J.AttiJ.:r.fi 1 

6 27GON01 KN 2 7 1 6 0 1 J:*J.A 1 . 
7 2795C K C 2 7 0 9 5 0 r*-IJJ)A 

I 

1 

8 27G2NOO KN 2 7 1 6 2 0 'JvJ-1 ~A'T- 1 

9 95610 A 9 0 5 6 0 1 0 c-9•J-'JvJ-1 ~ 4EL25-33X3X8X9 1 

1 0 27G3NOO KN271630 'JvJ-1 ~~.~,~- 1 

1 1 27G4N01 KN 2 7 1 6 4 1 J:* 3 1) r:J 'r 7 ':1 7 1 

1 2 27G5NOI KN 2 7 1 6 51 At- -:~r~-.:r.;f-tt;.,., 1 

1 3 27G6N02 KN271662 .:r.;f-tt ;_,.,'fJ,{- 1 

1 4 2384F K F 2 3 0 6 4 0 c ·:~ 7 i!Ust.- 7 :; "./ -f 1 

1 5 27G7NOO KN 2 7 1 6 7 0 ~.iJ:j. <*~':J,EJJ) 1 

1 6 2237F KF220370 ;f.l:'/'r-A (MK- 3) 1 

1 7 2231F K F 2 2 0 3 1 0. l&HSL-A-M1Q 1 

1 8 27C2C KC 2 7 1 2 2 0 r*f¥ffl:A7"- J:. 1 

1 9 27C1C01 KC271211 7:/·:~77"--f J:. 1 

2 0 27COC01 KC 2 7 1 2 0 1 7•:~:/77"--f "f 1 

2 1 27B9C01 KC271191 r*l*ffl=A"T- "f 1 

2 2 +*1\#jvJ'*:; M2. 5X 3 

2 3 2796C KC270980 IWJ~J.A 1 

2 4 2798C KC270980 fi!il~)A.iJ:)*y 1 

2 5 2576P03 H P 2 5 0 7 6 3 ttfi 1 

2 6 ilillJI~ 3 

2 7 A IJ !IJ IJ f:.t SJl.!j\ * y ( S M 1 1 / 6 5 W 4 0 X 5 ) 

t 2 8 A IJ 1JJ IJ # .iJ: ;l * :./ ( S M 1 1 / 6 4 W 4 0 X 4 ) 

2 9 A IJ 1fJ IJ # !f!.tj\ * y M4X8 
• 

3 0 r(*Ji~ 6 

3 1 :1\fl:J 1\ # ;!( '" t- M6X30 

3 2 1\flJ/\#.ll:J.*y M5X6 

3 3 1\fl:J-)- ':1 t- M4 

3 4 lJ!llJ!ii! 4 

3 5 1\ fl:J 1\ # :f.'" t- M4X20 

3 6 1\fl:Jt--:~t- M4 

3 7 1\ PJ 1\ ft :f.'" t- M 4 X 1 0 

3 8 '{*m~ 4 

3 9 1\ fl:J ;f. '" t- M4X8 

4 0 ~m~ 3 

4 1 ""*lm~ 3 

4 2 1\ PJ 1\ # :f. '" t- M 3 X 1 0 

4 3 2392F K F 2 3 0 9 2 0 Q IJ "./ ?' (~) 

4 4 :1\fl:J 1\ #:f.'" t- M 6 X 15 

-49- (HI)5. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



2 

t----5 

22 

45 

-50-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



Cl .., 

{N aftlt) n (N =ftlt) 

•-~t lliliS-It AEIS<It • a 45 Gilt • ~ •-~t 11m a ott aoa-~t • a 45 •• • ~ 

1 ~111AM"II'fll-l- MSX15 4 5 95202 A 9 0 52 0·0 2 "?.f?DA-f"IIJ- D2MC-o 1 F OM7J~) 1 

z 2SD4POO HP231340 [!i)fifl~s.£:.-t-1:":.- 1 4 6 ~1111\:f;tlf,JI, .. M 4 X 1 5 

3 ~11'11\:M":tfll-1- M3X8 4 7 2735C01 KC270S51 *l¥tt17.,? "/1.( t: 1 

4 31!11. 4 4 8 ~1JJ1\:f:tlf,JI,.I- M4 X 1 5 

5 2716NOO KN270160 ? 7 ::.-?"ott-tt.x.flb (-tt'l'{7.1ft) .2 4 9 J<.f.llll 4 

6 2772C KC270720 *Bilr-1??::.-?"CMP 1 50 ~11'11\:t-tlfCJv t- M 4 X 1 2 

1 2731G KG270310 >9t6ilt.'fflll ( 7 *tt> NX1 5 1 +~1\:f;tj-I'{JJ\.f. ~ M2X5 

8 A IJ 14 ~ t-J"lj!IJ\.f. ~ ( s M 9 /64d.r40) 52 2734C01 KC270341 *Bilr.i7.,?1lt-ta 1 

9 2358F KF230580 ~f'Jit-7- NX1 53 2711C KC270110 *l¥r.#7"1? 1 

1 0 2728C03 KC270283 *f¥r.l.x.?"a ::.- ( 5 *ft> 1 54 2778C KC270780 A 1- .,,<.f.~ I 

2728G02 KG270282 *BilM.x.?"a ::.- ( 7 *tt> 1 55 ~,-r., .. M3 1 

1 1 2730C01 KC2703~1 *Bit~??:.-?" NX1 56 27E8C KC271480 7?1/-:~..x.-9-v~<- 1 

1 2 2727C01 KC270271 {¥~~<* NX1 57 27FlG KG271510 *~'t".il:.?"v- t- 7 (;t?"Y !I:,.) 1 

1 3 ~11'11\:t-t.r.Jvt- M 4 X 1 0 5 8 .il!lll! 3 

1 .. 2729C02 KC270292 *f¥r.J?'a7? NX1 59 ,<.f. Ill! 3 

1 5 ~11'1-t-.,t- M4 

1 6 ~11'11\:f.tlf,JI,t- M3X6 

1 1 2719C KC270190 "Jv/-f t:Ai'"- 1 

1 8 2701C KC270010 CIUilr"FJ 111- 1 

1 9 2722C02 KC270222 nn--:-A 1 

20 2765C KC270650 *BiUt#A 7 -f 9'- CMP 1 

2 1 2740C01 KC270401 *Bilftlvr<- A ?"•J :.-?' 1 

22 2703C KC270030 A?.f f:I'{-A 1 

2 3 2705C KC270050 lo<-1:";... 1 

2 4 ~1111\:f'tlf,JI,I- M 3 X 1 0 

2 5 270BC KC270060 v~<- 1 

26 912C7 A9012127 ES.il:.JtaCifi:Ffl 3) 3 

• 2 7 2707C KC270070 a.,t:l:"::.- 2 

2 8 2718C KC270180 ?"v-t-a.,t: 1 

29 91258 A9012058 El5.1l:.Jta ~2.5 2 

3 0 2717C01 KC270171 -l!n ::.- t:v~<- 1 

3 1 2708C KC270080 -l!n ::.- t:vJ<-1::":.- I 

3 2 ~tr11t#l!'fJv 1- M 3 X 1 2 

3 3 ~tJJ-t--,1- M3 

3 4 +~A#ofJ-7'1'* ~ M4X8 

3 5 2710C01 KC270101 "Jvl.ft:l:":.- 1 

3 6 95613 A9056013 ~-?""JvJ-ft: TDS-UOSL(SP17):1t) 1 

3 7 2715NOO KN271850 vJ<-i!tt?"v- 1- 1 

3 8 2714NOO KN271840 *BilftlvJ<- 2 

3 9 ~1JJ1\:t-t.ll:.JI.f.~ M3X.S 

4 0 2733C01 KC270331 *4liHt~--:-A 1 

4 1 273TC KC270370 A 1- .,r~::!J.. 1 

4 2 95607 A9056007 D - 1 IJ 'J V J .( J:' 4 ER67.5-34X 3 X 8 X 9 1 

4 3 2738C KC270360 A I- .,,.~--:-A 1 I 
4 .. 2770C KC27070C A-f"ITAT- 1 I I I 

(Hf)S. 250 -51- (HJ)5. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~ill(BEMRH) @> * tn . ~ IlK l:b · 

-52-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@) * tJJ ~!I& lh fB m (8 EMRH) 
11-f3- i1ootl.§} Cl El 11-f3- ~ 

Cl 
~ (lift {jjft ~ a a AA 

1 +==r;I\M"!t 7'J'*:; M4X8 

2 27E4C KC 2 7 1 4 4 0 ~IUtf.J$-!t-l:"AiJ'<- 1 

3 3318C KC 3 3 0 1 8 0 717- </> f 0 1 

4 7\~/\#JJ::J.:t-:/ M5X6 

5 ~flJ -r ·:~ r M6 

6 ~~~ 6 . 
7 1\ fiJ 1\ M ;f. )~ r M 6 X 1 2 

8 27H1N02 KN 2 7 1 7 1 2 :r-9-77r·:~ r71,<- 1 

9 27J9NOO KN 2 7 1 9 9 0 :f:-7-tn<- 1 

1 0 27118N01 KN 2 7 1 7 8 1 ~lib tn<- 1 

1 1 27115NOO KN271750 :f:- 7- t.u<- @]~fm 1 

I 2 27N5NOO KN272350 ~rrt· / </> 6 L=35 1 

1 3 1\ fiJ 1\ M :Y- )~ r M 4 X 1 0 

·~I 4 27H4N01 KN 2 7 1 7 4 1 t: ':1 ~ 1 
"'Il 

1 5 27H3NOI KN 2 7 1 7 3 1 ~Jb:IJ~ 1 

I 6 +*/\#7-""'1'*:; M5X65 

I 7 ~m~ 5 

1 8 7\flJ/\#JJ::;(*y M5X8 

1 9 +::r;Jt#r7A-*Y M3X6 

2 0 27110POO HP271700 :r-9-77r·:~ r 1 

2 1 2713NOO KN 2 7 1 8 3 0 A 1 ·:1 7- A~-"!t 2 

2 2 95206 A 9 0 5 2 0 0 6 Y!,rA1,7-D4NC-2020 1 

2 3 1\ fiJ tt M :Y- )~ r M4X30 

2 4 lJ!.li~ 4 

2 5 ~Hl!~ 8 

2 6 1\flJ tt M ;f.)~ r M8X20 

2 7 96528 A 9 0 6 5 0 2 8 IJ I' - ~ "f)~ :f: - 9 - RM-F7A12PEAA(7RHD30) 1 

•• 2 8 1\flJ 7- ·:~ r M8 

2 9 27IONOO KN271800 mib ln<-71 7- 1 

3 0 91202 A 9 0 1 2 0 0 2 .:L .=.. :f{ - )~ y a 1 / r NMB PR-6 1 

3 1 337611 HH330760 7\fiJi!l!*Sfzll 1 

3 2 7\~7- ·:~ r M5 

3 3 3341C KC 3 3 0 4 1 0 o •:1 ~l!S*So ·:~ t: (2M) 2 

3 4 27H2NOO KN 2 7 1 7 2 0 :f:-9-A~-"!t 1 

3 5 1\ fiJ tt M :f{ )~ r M6X55 

3 6 r 7 Alj'* Y M3X6 

3 7 ~"'" 1:"'7- ·:~ r M4 

-53- (111)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@) * tJJ ~ ~IK Jh $ IV (8 E S R H • 8 EX H) 

20 

41 

43 

-54-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ * tJJ V ~IK I1J $ IV (8 E S R H • 8 E X H) 
fl-ij- 1Sliii11.J3- Cl 13 11-ij- $ Cl 

~ «<it {iii =it a a a a 

1 +*J(ft"t 711'*:; M4X8 

2 27E4C KC 2 7 1 4 4 0 IKibM-t-l:'";(.:fJ.,<- 1 

3 3318C KC 3 3 0 1 8 0 1J7- (> 1 0 1 

4 :i\tfJ/(ftJ.I:;(;f-y M5X6 

5 :i\PJ -r ·:~ t- M6 

6 .sJ!liil 6 . 
7 :i\ ~ I( M ~ '"' t- M 6 X 1 2 

8 27H1N01 KN 2 7 1 7 1 1 ~- ~- /7 'r ·:~ t- tJ.~<- 1 

9 27J9NOO KN 2 7 1 9 9 0 ~-~-l.u<- 1 

1 0 27H8N01 KN 2 7 1 7 8 1 IKib 1.."<- 1 

1 1 27H5NOO KN 2 7 1 7 5 Q -.~- ~ -t.u<-IEJeiflll 1 

1 2 27N5NOO KN27235o· .sJ!rr ~:· :..- (> 6 L=35 1 

1 3 :i\ 1lJ AM :r. '"' t- M 4 X 1 0 

1 4 27H4N01 KN 2 7 1 7 4 1 r':l?' 1 

1 5 27113NOl KN 2 7 1 7 3 1 ~iiJi'IJ ~ 1 • 
1 6 95205 A 9 0 5 2 0 0 5 ~17 o;(.1·:~r V- 0 1 G L 2 2 55 1 

1 7 +*AM r 7 .i(.tJ'*:; M 3 X 1 5 

1 8 :i\1IJAf.tJ.I:;(;f-y M5X8 

1 9 +*AMt-7;(.*:; M3X6 

2 0 27110POO H P 2 7 1 7 0 0 ~-~-/7'r·:~ t- 1 

2 1 2713NOO KN 2 7 1 8 3 0 .i(...f ·:~r.i(."'--t 2 

2 2 95206 A 9 0 5 2 0 0 6 Y!7rA1':1r04NC-2020 1 

2 3 :i\1IJAM:f. '"' t- M4X30 

2 4 lJ!Iiil 4 

2 5 .sJ!mil 8 

2 6 :i\ 1lJ A t-t :r. '"' t- M8X20 

2 7 :i\ ~A t-t ~ '"' t- M5X8 

' 
2 8 7\~-r·~ t- M8 

2 9 2710NOO KN271800 ~Sib L.u<- 'IJ 7- 1 

3 0 91202 A 9 0 1 2 0 0 2 .::L -=- :r. - '"' :; 3 1 :..- t- NMB PR-6 1 

3 1 337611 HH330760 :i\tfJi!l!t!i. 1 

3 2 :i\~7-':lr M5 

3 3 3341C KC 3 3 0 4 1 0 o ':1 ?im*B o ·:~ r- < 2M> 2 

3 4 lllliil 5 

3 5 :i\1fl I( M :r. '"' r M6X55 

3 6 27112NOO KN 2 7 1 7 2 0 ~-~-.i(."'-"t 1 

3 7 96528 A 9 0 6 5 0 2 8 •J "' - ~ .,. '"' ~ - ~ - RM-F7A12PEAA(7RHD30) 1 

3 8 .sJ!liil 5 

3 9 +::f:AftT"''1'*:; M5X65 

4 0 27E7C KC 2 7 1 4 7 0 liti~ft'r;(.r- 1 

4 I 55NOOOO E B E 0 0 0 1 0 *tJJmi:Jl~fJJfti!Joo~• 1 

4 2 95103 A 9 0 5 1 0 0 3 LY-2 IJ 1,.1- 1 

4 3 +::f:Aft?-"''1'*:; M3X6 

4 4 l:::~.-?:1A 1 

4 5 -t-?1:"7-·:~t- M4 

-55- (81)5. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



( t 

.: 

~· t 
11 

12 

~ 

~ 

-56-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ 
jiDifijif-ij- sfl.I§J11-ij- • 0 :g Mil {;fl :It aa:a 

1 7A05PR3 1HP12300 ;f~.lL-cSRH-UF-12 P=300 1 * 2 2490F KF240900 kult fit E < * .lL r Jfi > 
3 +*1\ft~7'J';t. :/ M 4 X 1 2 

4 :;\~1\ftJJ:;(.t.:/ M5X8 

5 7\~/\ftJJ:;(.t.:/ M6X8 

6 "~ 1\ M :if)~ r M 6 X 1 5 

7 '<.t.RMii! 6 

8 lJ!~ii! 6 

9 7128F K F 7 1 0 2 8 0 l(~.lL -rf45 ( 7 * Hx 9, 5* H X 6) 

1 0 +*1\#-tf?lj\;t.:; M5X6 

1 1 1\~ :if)~ r M8X20 

1 2 lJZfiii! 8 

1 3 ~~~ii! 5 

• a 1 4 '~*fiit 5 

• 1 5 1\~-r ·:~ r M5 

1 6 7179POO H P 7 1 0 7 9 0 *.lL-c±a 4 

1 7 24A3G01 KG 2 4 1 0 3 ·1 = '.:1 Elk~ .lL Jf:UfU~ us 7* H X9, 5* H X6 

1 8 713011 HH 7 1 0 3 0 0 :stJ\:n -tt ·:~ r LRP4013K 15/16LG 1 ml~iaJ 

713011 HH 7 1 0 1 0 0 :stn:nxtt±a LRP4013K 25LG 1 fljtfjiaJ 

1 9 7116GOI KG 7 1 0 1 6 1 :!ltJ\:ij":i:ft±f:t 2 

2 0 1\ ~ 1\ M .r. )~ r M8X45 

2 I '~*mil 8 

2 2 .iJZ~ii! 8 

·~ .. 
~· 

• 

.. 

-57- (HI)5.250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



sr 
g 13 If ~ ~ifiiZ:-5 ~-y Jll:fjjt~ g 13 • ~ ~iii·~ ~-y Jtl±iZ:~ 

1AP1230060060C 2 9 1 8 A 9 0 1 2 1 2 6 912C6 3 9 4 0 

1CP1230060060C 2 9 1 A 9 0 1 2 1 2 7 912C7 4 1 1 6 

1BP123006008 1021P 2 5 2 A 9 0 1 2 1 2 7 912C7 5 1 2 6 

1BP123006008 1021P 2 3 2 A 9 0 1 2 1 2 7 912C7 3 9 3 6 

1FP1230060060 3 5 3 A 9 0 1 2 1 5 0 912FO 3 1 1 1 

1 H P 1 2 3 0 0 7A05PR3 5 7 1 A9013018 91318 2 7 1 

1KP1230060060C 2 9 2 3 A 9 0 1 4 0 2 2 91422 5 1 

1LP1230060060 7380C 3 5 1 5 A 9 0 1 4 0 2 2 91424 9 3 4 

A9010001 91001. 3 1 1 2 A 9 0 2 0 0 6 1 92061 2 5 8 

A 9 0 1 0 0 0 5 91005 2 7 1 4 A 9 0 2 0 0 6 5 92065 2 3 8 

A 9 0 1 0 0 0 6 91006 4 1 1 A 9 0 2 0 0 6 5 92065 2 3 8 

A 9 0 1 0 0 0 6 91006 3 7 2 A 9 0 2 0 0 9 8 9Z098 4 1 8 

A 9 0 1 0 0 0 6 91006 3 9 3 A 9 0 2 0 0 9 8 92098 3 9 6 

A 9 0 1 0 0 0 7 91007 2 7 2 8 A 9 0 2 0 1 0 1 920A1 2 7 5 

A 9 0 1 0 0 0 9 91009 1 3 4 A 9 0 5 1 0 0 3 95103 5 5 4 2 

A 9 0 1 0 0 0 9 91009 1 5 4 A 9 0 5 2 0 0 2 95202 5 1 4 5 

A9010011 91011 9 2 3 A 9 0 5 2 0 0 5 95205 5 5 1 6 

A 9 0 1 1 0 2 1 91121 9 2 5 A 9 0 5 2 0 0 6 95206 5 5 2 2 

A9011022 91122 9 2 6 A 9 0 5 3 0 3 3 95333 3 9 6 1 

A 9 0 1 1 0 2 3 91123 9 2 4 A 9 0 5 6 0 0 7 95607 5 1 4 2 

A9011028 91128 3 5 1 3 A 9 0 5 6 0 1 0 95610 4 9 9 

A 9 0 1 1 0 3 5 91135 2 7 1 1 A 9 0 5 6 0 1 1 95611 3 1 3 1 

A 9 0 1 1 0 3 8 91138 2 7 2 A 9 0 5 6 0 1 3 95613 5 1 3 6 

A 9 0 1 1 0 4 8 91148 2 5 6 A 9 0 6 5 0 2 8 96528 5 5 3 7 

A9011048 91148 2 3 6 EAY009A1 51j2CA1 4 5 1 

A9011049 91149 3 1 8 EAY009A2 51J2CA2 4 5 9 

A9011063 91163 4 1 3 8 EAY009A3 51J2.CA3 4 5 2 3 

A 9 0 1 1 0 6 3 91163 3 9 1 8 EAY010A2 51L2CA2 4 5 9 

A 9 0 1 1 0 7 9 91179 4 1 3 2 EAY010A3 51L2CA3 4 5 2 3 

A 9 0 1 1 0 7 9 91179 3 9 2 6 EAY01 1 A 1 51J3CA1 4 7 1 

A 9 0 1 1 1 1 1 91181 5 4 EAY011A2 51J3CA2 4 7 4 

A 9 0 1 1 1 1 1 91181 2 7 2 0 EAY011A3 51j3CA3 4 7 2 0 

A9012001 91201 3 1 2 4 EAY012A2 51L3CA2 4 7 4 

A 9 0 1 2 0 0 2 91202 5 5 3 0 EAY012A3 51L3CA3 4 7 2 0 ! 

A 9 0 1 2 0 0 3 91203 1 1 9 EAY017A1 51G3NA1 4 3 2 5 

A 9 0 1 2 0 0 5 91205 1 1 9 ,EAY017A2 51G3~A1 4 3 1 

A9012007" 91207 7 1 8 EAY017A3 51G3NA3 4 3 1 6 

A 9 0 1 2 0 0 9 91209 3 1 3 0 EAY018A3 51G4NA3 4 3 1 6 

A 9 0 1 2 0 5 2 91252 4 1 3 4 E 8 E 0 0 0 1 0 55NOOOO 5 5 4 1 

A 9 0 1 2 0 5 2 91252 3 9 2 4 E8Y00060 55 C00 50 4 5 4 

A9012055 91255 3 1 3 4 E8Y00080 55C0070 4 7 7 

A 9 0 1 2 0 5 8 91258 5 1 2 9 E8Y00080 55C0070 4 5 1 3 

A9012116 91286 2 7 1 3 E8Y00090 55C0080 4 5 5 

A9012126 912C6 4 1 1 4 E 8 Y 0 0 1 1 0 55C0110 4 7 5 

A 9 0 1 2 1 2 6 912C6 3 7 1 1 E 8 Y 0 0 1 1 0 55C0110 4 5 1 1 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~I 

IJJ133~ lg)ifii3~ ~-:Y J!f:l:l3~ liA 13 -~ ~iii·~ ~-~ 1!1:1:13~ 

EBY00150 55C0150 1 7 6 HH330770 33778 3 1 2 7 

EBY00150 55C0150 1 9 6 HH330810 33818 3 1 1 4 

EBY00150 55C0150 2 1 8 HH470080 47088 3 5 1 2 

E B Y 0 0 1 8 0 55C0180 3 1 4 HH 4 8 1 9 0 0 48j08 4 1 4 4 

EBY00190 55C0190 4 5 7 HH 4 8 1 9 0 0 48J08 3 9 1 2 

EBY00260 55Y0020 4 7 8 HH 4 8 1 9 1 1 48j1H0f 4 1 4 5 

• EBY00270 55Y0030 4 7 9 HH 4 8 1 9 1 1 48J1H01 3 9 1 3 

EBY00290 55N0040 4 5 1 0 HH 4 8 1 9 3 1 48J3H01 4 1 4 3 

EBY00300 55N0050 4 5 1 0 HH 4 8 1 9 3 1 48J3H01 3 9 1 1 

E B Y 0 0 3 1 0 55N0060 4 5 6 HH48194o· 48J4H 4 1 4 6 

EBY00320 55N0070 4 5 3 HH481940 48J48 3 9 1 4 

E BY. 0 0.3 4 0 55Y0050 4 7 2 HH 4 8 1 9 7 0 48J78 4 1 3 5 

EBY00350 55Y0060 4 7 3 HH481970 48J7H 3 9 2 0 

E B Y 0 0 4 1 0 55N0090 4 5 2 HH481980 48j8H 4 1 4 2 

E B Y 0 0 4 5 0 55ROOOO 4 3 2 HH 4 8 1 9 8 0 48j8H 3 9 1 6 

EBY00460 55R0010 4 3 3 HH 4 8 1 9 9 1 48J9H01 4 1 2 9 

EBY00470 55R0020 4 3 4 HH 4 8 1 9 9 1 48J9H01 3 9 2 8 

EBY00480 55R0030 4 3 7 HH482000 48KOOH 4 1 2 8 

EBY00490 55R0040 4 3 5 HH482000 48KOH 3 9 2 9 

EBY00500 55R0050 4 3 6 HH482010 48K1H 3 9 1 9 

E B Y 0 0 5 1 0 5.5R()060 4 3 3 1 HH 4 8 2 0 3 1 48K3H01 4 1 1 0 

EBY00520 55R0070 4 3 3 0 HH 4 8 2 0 3 1 48K3H01 3 9 7 

EBY00530 55R0080 4 3 2 8 HH 4 8 2 0 4 1 48K4H01 4 1 1 1 

EBY00540 55R0090 4 3 2 7 HH 4 8 2 0 4 1 48K4H01 3 9 8 

EBY00550 55R0100 4 3 2 9 HH 4 8 2 1 1 0 48L1H 4 1 3 1 

EBY00560 55R0110 4 3 3 2 HH 4 8 2 1 1 0 48L1H 3 9 2 7 

EBY00570 55R0120 4 3 2 6 HH 51 0 9 50 5195H 4 7 6 

EBY00590 55Y0130 4 7 1 0 HH 51 0 9 50 5195H 4 5 8 

EBY00630 55R0140 4 3 3 8 HH 54 0 1 0 0 5410H 3 3 1 4 

EBY00660 55Y0100 4 7 8 HH 7 1 0 1 0 0 7110H 5 7 1 8 

HH120920 12928 2 9 2 2 HH710300 7130H 5 7 1 8 

HH120930 1293H 2 9 2 4 8848209860 48K9H60 3 9 2 3 

HH140260 1426H 2 9 1 1 HK 2 2 0 6 8 1 .2268K01 5 1 4 

HH 1 4 0 6 50 1465H 2 9 1 3 HK 3 1 3 7 2 0 31AMKOO 3 1 1 6 

HH 1 4 0 6 6 0 1466H 2 9 1 4 H P 1 3 0 0 0 0 1300POO 2 5 1 

HH140720 1472H 2 9 2 7 H P 1 3 0 0 0 0 1300POO 2 3 1 

HH 1 4 0 9 4 0 1494H 2 9 2 1 H P 1 3 0 0 1 0 1301POO 2 5 3 

HH220570 2257H 5 1 2 H P 1 3 0 0 1 0 1301POO 2 7 3 2 

HH 3 1 3 2 7 0 31W78 2 5 4 H P 1 3 0 0 1 0 1301POO 2 3 3 

HH 3 2 0 2 8 0 32288 1 1 4 H P 1 3 0 0 2 1 1302P01 2 5 1 9 

HH320550 32558 2 7 1 2 H P 1 3 0 0 2 1 1302P01 2 3 1 9 

HH 3 2 0 55 0 32558 3 1 1 5 H P 1 3 0 0 5 6 1305POO 2 5 6 1 

HH330620 33628 3 1 7 H P 1 3 0 0 5 6 1305POO 2 3 4 

HH 3 3 0 6 7 0 3367H 3 1 4 4 H P 1 4 0 0 9 0 1409POO 2 9 2 9 

HH 3 3 0 7 6 0 3376H 5 3 3 1 H P 1 4 0 8 4 1 1484P01 2 9 8 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



51 
5b 13 • ~ 181iiiiil~ ~-y j!tfjjf~ 5b El • ~ ~00-~ ~-y j!tfj.{} 

H P 1 4 0 9 2 0 1492POO 2 9 7 H P 2 4 1 2 1 0 24ClPOO 1 3 1 

H P 1 4 1 0 1 0 14A1POO 2 9 1 0 H P 2 4 1 3 7 1 24D7P01 1 7 4 

H P 1 4 1 0 8 0 14A8POO 2 9 9 H P 2 4 1 3 7 1 24D9POO 1 9 5 

HP 1 4 1 0 9 0 14A9POO 2 9 2 6 H P 2 4 1 3 8 1 24D8P01 1 9 4 

H P 1 4 1 1 3 0 1483POO 2 9 2 H P 2 4 1 3 9 0 24D9POO 1 7 5 

HP141130 1483POO 2 9 6 H P 2 4 1 4 0 0 24BOPOO 1 7 1 3 

H P 1 6 0 0 1 0 1601POOO 2 5 1 8 H P 2 4 1 4 0 0 24BOPOO 1 9 1 3 

H P 1 6 0 4 0 1 1640P01 2 5 9 H P 2 4 1 4 1 0 24B1POO 1 7 1 2 

H P 1 6 0 4 0 1 1640PO.l 2 3 9 H P 2 4 1 4 1 0 24BlPOO 1 9 1 2 

H"P 2 1 0 3 4 1 2134P01 5~ 3 H P 2 4 1 4 5 0 24B5POO 1 7 8 

H P 2 2 0 7 0 1 2270P01 · 5 1 0 H P 2 4 1 4 6 0 24B6POO 1 9 8 

H P 2 2 0 7 1 2 2271P02 5 8 H P 2 4 1 1 8 0 2488POO 1 9 9 

HP2.20720 2272POO 5 1 3 H P 2 4 1 4 7 0 24B7POO 1 7 1 0 

H P 2 3 1 .2 5 1 23C5P01.., 7 3 H P 2 5 0 0 5 0 2505POO 1 7 1 7 

H P 2 3 1 2 6 0 23C6POO 7 1 H P 2 5 0 0 7 0 2507POO 2 1 1 0 

H P 2 3 1 2 7 2 23C7P02 7 5 H P 2 5 0 5 8 1 2558P01 1 7 1 6 

H P 2 3 1 2 8 2 23C8P02 7 4 H P 2 5 0 5 8 1 2558P01 1 9 1 6 

H P 2 3 1 2 9 0 23C9POO 9 1 9 H P 2 5 0 5 8 1 2558P01 2 1 1 2 

H P 2 3 1 3 0 0 23DOPOO 9 1 7 H P 2 5 0 6 0 1 2560P01 1 1 1 

H P 2 3 1 3 1 0 23D1POO 9 2 1 H P 2 5 0 6 2 0 2562POO 1 7 1 4 

H P 2 3 1 3 2 0 23D2POO 7 2 H P 2 5 0 6 8 0 2568POO 2 1 1 3 

H P 2 3 1 3 3 0 23D3POO 1 3 8 H P 2 5 0 7 6 1 2576P01 5 2 

'HP231330 23D3POO 1 5 1 6 H P 2 5 0 7 6 3 2576P03 4 9 2 5 

H P 2 3 1 3 4 0 23D4POO 5 1 2 H P 2 7 1 7 0 0 27HOPOO 5 5 2 0 

H P 2 3 1 3 4 0 23D4POO 3 1 2 5 H P 3 1 3 2 0 0 31WOPOO 2 3 6 1 

H P 2 3 1 3 4 0 23D4POO 9 3 6 H P 3 1 3 2 0 0 31WOPOO 2 5 6 5 

H P 2 ~ 1 3 7 0 2307900 9 1 3 H P 3 1 3 3 0 4 31XOP04 2 7 2 6 

H P 2 3 1 3 8 0 · 23D8POO 7 1 9 H P 3 1 3 3 1 1 31X1P01 2 7 2 7 

H P 2 3 1 4 0 0 23BOPOO 7 2 2 H P 3 1 3 3 2 0 31X2POO 2 7 2 9 

HP240020 2402POO 1 3 7 H P 3 1 3 3 3 0 31X3POO 2 7 
' 

3 0 

H P 2 4 0 0 2 0 2402POO 1 5 6 H P 3 1 3 4 0 1 31Y.OP01 2 5 1 3 

H P 2 4 0 6 3 0 2563POO -1 9 1 4 H P 3 1 3 4 1 0 31Y1POO 2 7 1 6 

H P 2 4 1 1 0 0 2480POO 1 5 1 H P 3 1 3 4 3 1 31Y3P01 2 5 1 0 

H P 2 4 1 1 1 0 2481POO 1 7 2 H P 3 1 3 4 3 1 31Y3P01 2 3 1 0 

H P 2 4 1 1 2 0 2482POO 1 9 2 H P 3 1 3 4 4 1 31Y4P01 2 5 1 4 
H P 2 4 1 1 3 0 2483POO 1 3 2 H P 3 1 3 4 8 0 31Y8POO 2 5 1 2 

H P 2 4 1 1 4 0 2484POO 1 3 2 H P 3 1 3 4 8 0 31Y8POO 2 3 1 2 
H P 2 4 1 1 5 0 2485POO 1 7 1 1 H P 3 1 3 4 9 0 31Y9POO 2 7 7 

H P 2 4 1 1 5 0 2485POO 1 9 1"1 H P 3 1 3 5 0 0 31ZOPOO 2 7 9 
H P 2 4 1 1 6 0 2486POO 1 7 3 H P 3 1 3 5 9 0 31Z9POO 2 7 2 4 

H P 2 4 1 1 6 0 2486POO 1 9 3 H P 3 1 3 6 9 0 31AJPOO 2 5 2 0 

H P 2 4 1 1 7 0 2487POO 1 7 9 H P 3 1 3 6 9 0 31AJPOO 2 3 2 0 
H P 2 4 1 4 8 0 24B8POO 1 9 1 0 H P 3 1 4 4 4 0 31DGPOO 2 7 6 
H P 2 4 1 1 9 0 2489POO 1 7 7 H P 3 1 4 4 5 0 31DHPOO 2 7 1 7 
H P 2 4 1 2 0 0 24COPOO 1 9 7 H P 3 1 4 4 8 0 31DKPOO 2 7 1 5 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



51 
8A El 3 ~ lmifii#~ -"'-~ ~ttl·~ 8A El • ~ ~ifii-~ -"'-~ j[l:fjjf~ 

H P 3 1 4 6 3 1 31DZP01 2.3 1 3 H P 4 5 1 0 1 0 45A1POO 3 9 3 1 
H P 3 1 4 6 4 1 31BAP01 2 3 1 4 HP451060 45A6POO 4 1 7 
H P 3 1 4 6 5 0 31BBPOO 2 3 1 8 H P 4 5 1 0 6 0 45A6POO 3 9 3 5 
HP31466C 31BCPOO 2 7 8 H P 4 6 0 1 2 1 4612P01 3 7 9 
H P 3 1 4 6 7 0 31BDPOO 2 5 2 1 HP460160 4616POO 4 1 1 5 
H P 3 1 4 6 7.0 31BDPOO 2 3 2 1 H P 4 6 0 1 6 0 4616POO· 3 7 1 2 
H P 3 1 4 6 8 0 31BBPOO 2 7 1 a· H P 4 6 0 1 6 0 4616POO 3 9 3 7 
H P 3 1 4 6 9 0 31EFPOO 2 7 1 9 HP460170 4617POO 4 1 1 3 
H P 3 1 4 7 0 0 31EGPOO 2 7 1 0 H P 4 6 0 1 7 0 4617POO 3 7 1 0 

H P 3 1 4 7 1 0 31BHPOO 2 5 1 6 H P 4 6 0 1 7 0 4617POO 3 9 3 8 

H P 3 1 4 7 1 0 31EHPOO 2 3 1 6 HP480070 4807POO 4 1 8 7 

H P 3 1 4 7 3 0 31BJPOO 2 5 1 7 HP480070 4807POO 3 9 1 5 

H P 3 1 4 7 3 0 31BJPOO 2 3 1 7 H P 4 8 2 2 3 2 48M3P02 4 1 3 9 

H P 3 1 4 7 4 0 31BKPOO 2 5 5 HP482450 48M5POO 3 9 3 9 
H P 3 1 4 7 .4 0 31BKPOO 2 3 5 H P 4 8 2 4 6 0 48M6POO 3 9 4 3 

H P 3 1 4 7 5 0 31ELPOO 2 5 7 H P 4 8 2 4 7 0 48M7POO 3 9 4 1 

H P 3 1 4 7 5 0 31BLPOO 2 3 7 H P 4 8 2 4 8 0 48M8POO 3 9 4 4 

H P 3 1 4 7 6 0 31EMPOO 2 7 4 H P 4 8 2 5 6 0 48P6POO 4 1 1 8 

H P 3 1 4 7 7 0 31ENPOO 2 7 3 H P 4 8 2 5 7 0 48P7POO 4 1 1 9 

H P 3 2 1 0 0 1 32AOP01 1 1 3 H P 4 8 2 5 8 0 48P8POO 4 1 1 2 

H P 3 2 1 0 8 2 32A8P02 5 7 H P 4 8 2 5 9 0 48P9POO 4 1 1 7 

H P 3 2 1 0 9 0 32A9POO 5 5 H P 4 8 2 5 9 0 48P9POO 4 1 2 7 

H P.3 2 l 0 9 0 32A9POO 2 7 2 2 H P 4 8 2 5 9 0 48P9POO 3 9 4 2 

H P 3 2 l 1 0 0 32BOPOO 2 7 2 3 H P 4 8 2 8 3 0 48S3POO 4 1 2 

H P 3 2 1 ·1 1 0 3201POO 2 7 3 3 H P 4 8 2 8 3 0 48S3POO 3 7 3 

HP321 1 3 0 3283POO 2 7 2 1 HP482831 48S3P01 3 9 4 

H P 3 2 1 1 4 0 32B4POO 1 1 5 HP482871 48S7P01 3 9 2 

H P 3 2 l 1 4 0 3284POO 2 7 2 5 H P 4 8 2 8 8 1 48S8P01 3 7 1 

H P 3 3 1 5 1 1 33F1P01 3 1 5 HP482892 48S9P02 4 1 3 

H P 3 3 1 5 2 0 33F2POO 3 l 2 2 H P 4 8 2 9 1 0 48T1POO 4 1 2 0 

H P 3 3 1 5 3 1 33F3P01 3 1 3 6 H P 4 8 2 9 1 0 48T1POO 3 7 6 

H P 3 3 1 5 5 0 33F5POO 3 1 3 2 H P 4 8 2 9 1 0 48T1POO 3 9 2 2 

H P 3 3 1 5 6 0 33F6POO 3 1 2 9 H P 4 8 2 9 2 o 48T2POO 3 7 7 

HP3:31570 33F7POO 3 I 6 HP482940 48'1'4POO 3 9 9 
! 

H P 3 3 1 5 B 0 33F8POO 3 1 9 HP482950 48T5POO 4 1 6 

H P 3 3 1 5 9 0 33F9POO 3 1 2 0 HP482950 48T5POO 3 7 4 

H P 3 3 1 6 0 0 33GOPOO 3 1 3 3 HP482950 48T5POO 3 9 5 

H P 3 3 1 6 1 0 33G1POO 3 1 2 8 HP482970 48T7POO 4 1 9 

H P 3 3 1 9 0 2 33jOP02 3 1 1 3 H P 4 8 2 9 8 0 48T8POO 4 1 3 3 

H P 3 3 I 9 2 1 33J2P01 3 1 1 8 H P 4 8 2 9 8 0 48T8POO 3 9 2 5 

H P 3 3 1 9 3 0 33J3POO 3 1 4 2 HP482990 48T9POO 4 1 4 1 

H P 3 3 1 9 4 0 33j4POO 3 1 4 0 HP482990 48T9POO 3 9 1 7 

H P 3 3 1 9 5 0 33j5POO 3 1 4 3 HP483110 48V1POO 4 1 5 

HP331960 33j6POO 3 1 4 1 H P 5 1 2 3 1 0 51N1POO 4 3 1 1 

H P 3 3 1 9 7 0 33J7POO 3 1 1 H P 5 1 2 3 2 0 51N2POO 4 3 1 2 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



iJI 
5b ·~ • ~ jg)jij-~ ~-~ Jtl:tl-~ 5b ~ • ~ ~iii-~ ~-~ Jtl:tl-~ 0 

H P 5 1 2 3 3 0 51N3POO 4 3 1 0 KC270950 2795C 4 9 7 

H P 5 1 2 3 4 0 51N4POO 4 3 9 KC270970 2797C 4 9 3 

H P 5 1 2 3 5 0 51N5POO 4 3 8 KC270980 2796C 4 9 2 3 

H P 7 1 0 7 9 0 7179POO 5 7 1 6 KC270980 2798C 4 9 2 4 

H P 1 3 0 0 6 0 4 5 1306P45 2 5 5 2 KC 2 7 1 1 9 1 2789C01 4 9 2 1 

H P 1 3 0 0 6 0 4 5 1306P45 2 3 5 2 K C 2 7 1 2 0 1 27COC01 4 9 2 0 

H P 1 4 0 1 0 0 6 0 1410P60 2 9 2 8 K C 2 7 1 2 1 1 27C1C01 4 9 1 9 

H P 1 4 0 9 9 0 7 5 1499P75 2 9 1 2 K C 2 7 1 2 2 0 27C2C 4 9 1 8 

H P 4 5 1 0 4 0 6 0 45A4POO 3 9 3 0 K C 2 7 1 4 4 0 27F4C 5 5 2 

HP45105054 45A5POO 4 1 2 2 K C 2 7 1 4 7 0 27B7C 5 5 4 0 

H P 4 8 2 1 7 C 6 0 48L7PRR 4 1 2 1 K C 2 7 1 4 8 0 27B8C 5 1 5 6 

HP48281A60 48S1P60 3 7 8 K C 3 1 0 1 1 0 3111C 2 5 1 5 

HP48282060 48S2P60 3 7 5 K C 3 1 0 1 2 0 3112C 2 5 1 5 

HP48290860 48TOP60 3 5 8 K C 3 1 2 2 1 0 31M1C 2 5 1 1 

HP48313860 48V3P60 3 9 1 K C 3 1 2 2 1 0 31M1C 2 3 1 1 

HP482218600 48M1PRR 3 5 1 1 K C 3 1 2 9 2 1 31T2C01 3 1 1 7 

HQ741F30 740F3QO 3 1 3 9 K C 3 2 0 5 9 0 3259C 2 7 3 1 

KC230220 2322C 7 1 4 KC 3 3 0 1 7 0 3317C 3 1 3 

K C 2 4 0 1 2 0 2412C 2 1 2 K C 3 3 0 1 8 0 3318C 5 5 3 

KC 2 7 0 0 1 0 2701C 5 1 1 8 KC330280 3328C 3 1 2 

KC270030 2703C 5 1 2 2 KC 3 3 0 4 1 0 3341C 5 5 3 3 

KC270050 2705C 5 1 2 3 K C 3 3 0 4 1 0 3341C 1 1 6 

KC 2 7 0 0 6 0 2706C 5 1 2 5 K C 3 3 0 4 1 0 3341C 3 1 2 6 

KC270070 2707C 5 1 2 7 KC 4 50 1 8 0 4518C 4 1 2 5 

KC 2 7 0 0 8 0 2708C 5 1 3 1 KC 4 50 1 9 0 4519C 4 1 2 6 

KC 2 7 0 1 0·1 2710C01 5 1 3 5 K C 4 5 0 1 9 0 4519C 3 9 3 2 

KC 2 7 0 1 1 0 2711C 5 1 5 3 K C 4 5 0 4 7 0 4547C 4 1 2 3 

KC 2 7 0 1 7 1 2717C01 5 1 3 0 K C 4 5 0 4 7 0 4547C 3 9 3 4 
KC 2 7 0 1 8 0 2718C 5 1 2 8 K C 5 2 0 0 2 0 5202C 4 7 1 9 

KC 2 7 0 1 9 0 2719C 5 1 1 7 K C 5 2 0 0 2 0 52020C 4 5 2 2 

KC 2 7 0 2 2 2 2722C02 5 1 1 9 KC520020 5202C 4 3 1 3 
KC 2 7 0 2 7 1 2727C01 5 1 1 2 KC520220 5222C 4 7 1 1 
KC 2 7 0 2 8 3 2728C03 5 1 1 0 K C 5 2 0 2 2 0 5222C 4 5 1 4 
K C 2 7 0 2 9 2 2729C02 5 1 1 4 KC52022C 5222C 4 3 2 2 
K C 2 7 0 3 0 1 2730C01 5 1 1 1 KC330310300 3331C 1 1 8 
KC 2 7 0 3 3 1 2733C01 5 1 4 0 KC.330310300 3331C 3 1 2 3 
K C 2 7 0 3 4 1 2734C01 5 1 5 2 K F 2 2 0 3 1 0 2231F 4 9 1 7 
K C 2 7 0 3 5 1 2735C01 5 1 4 7 K F 2 2 0 3 1 0 2231F 5 1 5 
K C 2 7 0 3 6 0 2736C 5 1 4 3 K F 2 2 0 3 7 0 2237F 4 9 1 6 
KC270370 2737C 5 1 4 1 K F 2 2 0 3 7 0 2237F 5 9 
K C 2 7 0 4 0 1 2740C01 5 1 2 1 K F 2 2 0 4 1 0 2241F 5 1 1 
K C 2 7 0 6 5 0 2765C 5 1 2 0 K F 2 2 0 5 1 0 2251F 5 6 
KC27070C 2770C 5 1 4 4 K F 2 2 0 7 5 0 2275FOO 5 1 5 
K C 2 7 0 7 2 0 2772C 5 1 6 K F 2 3 0 0 1 0 2301F . 9 1 
K C 2 7 0 ·7 8 0 2778C 5 1 5 4 K F 2 3 0 1 2 0 2312F 9 2 2 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



5l. 13 1ft: ~ OOiiiii% ~-~ .Jiili3~ lib 13 • ~ jg)ifiiii~ ~-~ .Jitli3~ 

K F 2 3 0 1 5 0 2315F 9 1 2 KF240450- 2445F 1 5 1 5 
K F 2 3 0 1 8.0 2318F 9 2 K F 2 4 0 4 6 0 2446F 1 3 6 
K F 2 3 0 2 1 0 2321F 9 9 K F 2 4 0 4 6 0 2446F 1 5 7 

K F 2 3 0 2 2 0 2322F 7 1 4 K F 2 4 0 4 7 0 2447F 1 3 5 
K F 2 3 0 2 3 0 2323F 9 6 K F 2 4 0 4 7 0 2447F 1 5 5 

KF230240 2324F 9 7 K F 2 4 0 4 8 0 2448F .. 1 3 1 5 

K F 2 3 0 2 5 0 2325F 9 8 K F 2 4 0 4 8 0 2448F 1 5 1 2 
KF2303.10 2331F 9 1 4 K F 2 4 0 4 9 0 2449F 1 3 1 4 

K F 2 3 0 3 2 0 2332F 9 1 5 K F 2 4 0 4 9 0 2449F 1 5 1 1 

K F 2 3 0 3 3 0 2333F 9 2 7 K F 2 4 0 6 1 0 246F 1 3 1 3 

K F 2 3 0 4 2 0 2342F 7 2 0 KF24061.0 2461F 1 5 8 

K F 2 q 0 4 5 0 2345F 9 1 8 KF240610. ·2461F 1 5 1 0 

K F 2 3 0 4 8 0 2348F 9 2 0 K F 2 4 0 9 0 0 2490F 5 7 2 

~. 
K F 2 3 0 5 0 0 2350F 7 1 5 K F 2 4 0 9 1 0 2491F 2 1 5 

K F 2 3 0 5 1 2 2351F02 7 1 2 K F 2 4 0 9 3 1 2493F01 1 7 1 5 

K F 2 3 0 5 2 1 2352F01 7 1 3 K F 2 4 0 9 3 1 2493F01 1 9 1 5 

K F 2 3 0 5 8 0 2358F · 5 1 9 KF240931. 2493F01 2 1 1 1 

K F 2 3 0 5 8 0 2358F 7 1 7 K F 2 4 1 6 0 0 24GOFOO 1 9 2 5 

K F 2 3 0 5 8 0 2358F 7 1 7 K F 2 4 1 6 1 0 24G1FOO 1 7 2 5 

KF230580 2358F 7 1 7 K F 2 4 1 6 2 0 24G2FOO 2 1 1 8 

K F 2 3 0 6 3 0 2363F 7 9 KF250900 2590FOO 5 2 6 

K F 2 3 0 6 3 0 2363F 3 1 3 5 KF320520 3252F 1 1 2 

K F 2 3 0 6 4 0 2384F 4 9 1 4 K F 3 3 0 3 8 1. 3338F01 1 1 7 

K F 2 3 0 6 4 0 2364F 7 6 K F 5 3 0 1 1 0 5311F 4 7 1 6 

KF230650 2365F 7 8 K F 5 3 0 1 1 0 5311F 4 5 1 9 

K F 2 3 0 6 6 1 2366F01 7 1 0 K F 5 3 0 1 1 0· 5311F 4 3 1 9 

K F 2 3 0 6 7 0 2367F 7 1 1 K F 5 3 0 1 2 0 5312F 4 7 1 6 

• K F 2 3 0 9 1 0 2391F 9 4 K F 5 3 0 1 2 0 5312F 4 5 1 9 

KF230920 2392F 9 1 0 K F 5 3 0 1 2 0 5312F 4 3 1 9 

K F 2 3 0 9 2 0 2392F 4 9 4 3 K F 5 3 0 1 5 0 5315F 4 7 1 5 

K F 2 3 0 9 3 0 2393F 9 5 K F 5 3 0 1 6 0 5316F 4 7 1 8 

KF240030 2403F 1 3 3 K F 5 3 0 1 6 0 5316F 4 5 2 1 

K F 2 4 0 0 3 0 2403F 1 5 3 K F 5 3 0 1 6 0 5316F 4 3 2 1 

K F 2 4 0 0 4 0 2404F 2 1 3 K F 5 3 0 1 7 0 5317F 4 7 1 3 

K F 2 4 0 0 6 0 2406F 2 1 1 K F 5 3 0 1 7 0 5317F 4 5 1 2 

K F 2 4 0 0 8 0 2408F 2 1 9 K F 5 3 0 1 7 0 5317P 4 3 2 3 

K F 2 4 0 3 9 0 2439F 2 1 6 K F 5 3 0 1 8 0 5318F 4 7 1 4 

K F 2 4 0 4 2 0 2442F 1 3 1 2 K F 5 3 0 1 8 0 5318F 4 5 1 7 

K F 2 4 0 4 2 0 2442F 1 5 2 K F 5 3 o 1 8 o 5315F 4 5 1 8 

K F 2 4 0 4 2 0 2442F I 5 9 K F 5 3 0 1 8 0 5318F 4 3 1 7 

K F 2 4 0 4 3 0 2443F 1 3 9 K F 5 3 0 1 8 0 5315F 4 3 1 8 

K F 2 4 0 4 3 0 2443F 1 5 1 3 K F 5 3 0 1 9 0 5319F 4 7 1 7 

K F 2 4 0 4 4 0 2444F 1 3 1 0 K F 5 3 0 1 9 0 5319F 4 5 2 0 

K F 2 4 0 4 4 0 2444F 1 5 1 4 K F 5 4 0 0 1 0 5401F 3 3 1 2 

K F 2 4 0 4 5 0 2445F 1 3 1 1 K F 5 4 0 1 1 0 5411F 3 3 8 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~I 

~ § 3 ~ fg]ffiifi~ ~-;; Jlttlfi-5 56133-5 ~iii-~ ~-;; Jlti:Jfi~ 

K F 5 4 0 1 2 0 5412F 3 3 1 3 KN271731 27H3N01 5 5 1 5 

K F 5 4 0 I 3 0 54I3F 3 3 7 K N 2 7 I 7 3 I 27H3N01 5 3 1 5 

K F 5 4 0 1 4 0 54I4F 3 3 6 KN 2 7 I 7 4 1 27114N01 5 5 1 4 

K F 5 4 0 I 6 0 54I6F 3 3 2 KN 2 7 I 7 4 1 27H4N01 5 3 I 4 
-· K F 5 4 0 1 7 0 5417F 3 3 4 KN 2 7 1 7 50 27H5NOO 5 5 1 1 

K F 5 4 0 I 8 0 5418F 3 3 1 KN 2 7 1 7 50 27H5NOO 5 3 1 1 

K F 7 I 0 2 8 0 7128F 5 7 9 KN 2 7 1 7 8 1 27H8N01 5 5 1 0 

KG 2 3 0 0 2 0 2302G 9 3 KN 2 7 1 7 8 1 27H8N01 5 3 1 0 

KG 2 3 0 2 2 0 2322G 7 1 4 KN 2 7 1 8 0 0 2710NOO 5 5 2 9 

KG230340 2334G 9 1 6 KN 2 7 1 8 0 0 2710NOO 5 3 2 9 

KG 2 3 0 6 I 0 2361G 7 7 KN 2 7 1 8 3 0 2713NOO 5 5 2 1 

KG 2 4 1 0 2 0 24A2G 1 7 1 KN 2 7 1 8 4 0 2714NOO 5 1 3 8 

KG 2 4 1 0 2 0 24A2G 1 9 1 KN 2 7 1 8 50 2715NOO 5 1 3 7 

KG 2 4 1 0 3 1 24A3G01 5 7 1 7 KN 2 7 1 9 8 0 27j8NOO 4 9 2 

KG 2 50 0 1 0 2501G 1 9 1 7 KN 2 7 1 9 9 0 27J9NOO 5 5 9 

KG 2 7 0 2 8 2 2728G02 5 1 1 0 KN272350 27N5NOO 5 5 1 2 

KG 2 7 0 3 1 0 2731G 5 i 7 KN 3 1 3 52 0 31Z2VOO 2 5 1 3 

KG 2 7 1 51 0 27F1G 5 1 5 7 KN 3 1 4 59 1 31DVY01 2 5 1 3 

KG 3 3 0 1 50 3315G 3 1 2 1 KN 3 1 4 6 0 1 31DWY01 2 5 1 3 

KG 7 1 0 1 6 1 7116G01 5 7 1 9 KN 3 1 4 6 1 1 31DXN01 2 5 1 3 

KN 2 3 0 4 1 0 2341NOO 7 2 3 KN 3 1 4 6 1 1 31DXN01 2 3 1 3 

KN 2 3 0 4 3 0 2343NOO 7 2 1 KN 3 1 4 6 2 1 31DVN01 2 5 1 3 

KN 2 3 1 6 51 23G5N01 9 2 8 KN 3 1 4 6 2 1 31DYN01 2 3 1 .3 

KN 2 3 1 6 6 1 23G6N01 9 2 8 KN 3 1 51 1 0 31FVNOO 2 3 1 5 

KN 2 3 1 6 7 1 23G7N01 9 2 8 KN480350 4835NOO 3 5 2 

KN231700 23HONOO 9 1 1 KN480400 4840NOO 3 5 1 

KN 2 3 1 7 1 1 23H1N01 9 3 6 KN 51 1 0 2 0 5IA2NOO 3 1 1 9 

KN 2 3 1 7 2 1 23H2N01 9 3 6 KN51040012300 5140C 1 7 1 8 

KN 2 3 1 7 3 1 23H3N01 9 3 6 KN51040012300 5140C 1 9 1 8 

KN 2 7 0 1 6 0 2716NOO 5 1 5 KN51040012300 5140C 2 1 7 

KN 2 7 1 52 1 27F2N01 4 9 1 MT230491 2349T01 7 1 6 

KN 2 7 1 56 0 27F6NOO 4 9 4 MT230831 2383T01 7 1 6 

KN 2 7 1 6 0 1 27GON01 4 9 6 MT230851 2385T01 7 1 6 

KN 2 7 1 6 1 0 27G1NOO 4 9 5 

KN 2 7 1 6 2 0 27G2NOO 4 9 8 

KN 2 7 1 6 3 0 27G3NOO 4 9 1 0 ,. 

KN 2 7 1 6 4 1 27G4N01 "4 9 1 1 

KN 2 7 1 6 51 27G5N01 4 9 1 2 
KN 2 7 1 6 6 2 27G6N02 4 9 1 3. 

KN 2 7 1 6 7 0 27G7NOO 4 9 1 5 

KN 2 7 1 6 7 0 27G7NOO 5 3 1 5 

KN 2 7 1 7 1 1 27H1N01 5 5 8 

KN 2 7 1 7 1 1 27H1N01 5 3 8 

KN 2 7 1 7 2 0 27H2NOO 5 5 3 6 

KN 2 7 1 7 2 0 27H2NOO 5 3 3 6 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com




